WORKBOOK

o

ZIZ2® 1 | 85 H o2

A~



|'0II

CH o|Tthato

02 4

o

20|

A

muin

2% TEST o o sk

ZSA willZt cang &H £ += 2222 will be able

1l 20 3@ 40 5@ 6@ to7} 201

7 8® 90 MW 1Mo 120
1300 14@ 15@ 16® 17@ 180
190 200 21® 220 23®@ 24®
250 260 27®@ 280 29 300

10 X3| OF7 2ol 7HASIAIZUA Q7 IS HOML]?
shall2 ACHoA Mieksh= #H2 2 Shall | ~?, Shall
we ~?9} Z0| LIEfHC,

1 FAIEQXM= T7|Lp MAMS Fa] OF B= AfzHO|Ct 11 L= 3 EHOJE wHISH| Qs XIS MIRI0F JHCE (w
30|7_§| E_rA O.I()l_, 64IH)\|I-"O|E|§ %AI.O” s OlD:I’ i1|E) gan_H A||7_|‘0| ?E‘I%:U:'l'
HIZEAL nevers UHFEAF Q0| 2Cf ‘~GHOF2F RHCF= 529 mustl IAHE had to= 2L+,
O, Q| SAPHOIE STIAIH7} OZIAIKIS CHAIBICE A
=% Q7 58 LIEHH= Ar £lo] that&o| LHZ0] 0]
3 28| HEI= 95 A0 M= Zatof| TS 0 =-o|ct O] HO{Z Loj CHh Fast WY M= SS5EQ ANE
S9 TAS LEHHE SAF LIRS O SIKHAIKIZH T2 A0l LXIAIZHOF 2T,
Oj249) 2J012 =L} S5t AIZI0] BAZ/H Sxfetz
52 4 & ot 13 O{F| L7} OLRYUE Q0| Mt 248 HIL| 317t 20| 5
o= =2 T BA .
E_IO-I|:|-
4 A Tom =T 20| Q=g Y7t = LH=E? must have v-ed: ( 710“) ~US 01l SRIBICE
B: QL. LHZF LEZA,
Yot 27101 23 W0ID2 willS 2Lt 14 Z1= SN0 S5 olE RO 8 H AR,
disappear2 +SEIZ M0[X| Z=Lt AHS LRIA|A
5 Lb= 024l X70| 3129| 7ha Qs YRS & St LHBCE 2200
T Mz,
thinkg ZIYHO2 £ 4 IS W= 1 2P} 15 -1= S80| et 19 MS2 Rty
consider(2{3chel 2loj! mo|c, o2 el b fors 22 EHS
6 A= ZBSHL? 16 O52 1 SN 282 O AT AALE AZSHK| 27|12
B: S. ZE3 X 39 HI01, S,
IO BRIIR| A% KISl U022 BHAjAR toFHAS FYBE notS to HIR /0 201 LIEHAC,
ALl B
17 J52 452 MRAIZ 242 YSICH (e, Zoz 6
7 19 otse @30 ZCh J= X2 Foj Qick .
ZDE LIS SIRHRAZ0|CH encourage + SX0{ + to-v: ~7+ --ol== A5t
have gone to: ~2 7+ HZ{CH (21
have been to: ~0fl 7} & =o| QICt / CHASICH (B, 18 2= JHIZ0 B 20| 20171 fia Haiol] S41S U,
o2) OfE 32I0| 0Lt XS e U= toRHALIS A3}
=0, 0|} "so as to-viLt Tin order to-v; S92 HHR
8 CSH2IEE AIZIXZ Q0] BL? 0 £ = Tt for 0J3te] MAAE 2 2 QT
wheni SRS & 2 4 QUCh

19 =00 HM MRS RO, J2= & o2iMA=

02  G-ZONE WORKBOOK



20

21

22

23

24

25

26

27

28

29

30

AR FRSIALE HIte Of tok
of + 2X42{,02 BAJSIC,

YA ool =0

J= oMl Xp7| Xt MIXHRACE,
have + S80{ + v-ed: 2X0{2]

+S0|H SHZ 202 AR

de

237 ©0{9] 27}

i
I
u}

Ol= N ErAT
[S) EHS

254 542 F M HE 7KL 2 & U

be allowed to-v: ~ot= AS o2tEtCt

Ell21S] SI4APt &
Ct.

avoide SHAIS SX0{2 F3Ht,

|_|_|_
S
mjo
=]
olr
<

Li7F X2 BHEL7E R S5l & SIX| 2Ot
stop v-ing: ~ot= XE HRLE
L= QY= JAS[SEE, &t 2= XS] 7IH5HL U0,

look forward to0lA to= HXIAIO|ZZ TH0| HAL,
CHHAL, SHAPL 2 2= QCH

, OO

Of AFTIOIN MzetAE MO0 Ql= A= +710F?
the girlo] X1 losz %%JEWIOIEF. [efA SR AL
7t 20F BrLt,

YoNS AUOM SAIZ £ QF T it

the food7t E74%! Z10|22 =S A O|C}. TEkA] 2k
EAIZ} QOF BHCY,

JH= HREE A 52 YHEZ FHo| SAH.
the computerZt AT 20|22 S 2H0|C}. T2t
WAHZAZ} 2f0F I,

YAFEE Zafohi=t J2A| ReH F0| Y7HE 0|
FHE + or: ~oli2t, X FH - 20[

Lt= OMHX|I7F 19| AHE AHZOH=S oi2fsl FHA| S50t
Ct.
07| ifE2 E
L =t

AEZ MACDZ AH|O| XA SAZ}

L2LE 5 L0|0JA L= T4 Fo|2t HREE 2 QfQdct
such + (alan]) + YAt + HAt + (that) ~: Of
-2tA ~5ICt

-Io
r

Ol

CHECK UP

SAMALA, ZEAAA

1is 2 goes 3 live 4 will pass 5 walked

SHEE2 7|t XoIct,

fLiE AN = D121 LS AMAH

>

FA =

ra r@ m

oo L=

fim} _"__ )
m

-
3

Jg

QO TjOl: A& S of2f 2

e

fo
T o Hu

AL

-

B 2 = Tl
|'O

owadays®t on Thursdays(2L0tChH=
| U022 HAIHIE ALSRICE
2|70 Atct,
M2 STHAIKIZ LIEFHTE
Ltz JimO| 21 Algle SHHEX| ol HAH),
if7F ~QIX| OHXQ] 2|2, FAPHE Moa nj2ie
Y2 D[HAINZ BHEICL
QI7H2 1969E0 MSC2 o /IS AL,
Ct

FAH AHEE2 DAAHZ LEHH

t

o
—_
rc

]

N
ru
2

)
rZ rlo
i)
ro
_>;

1 slept 2 arrives 3 didn't stay 4 did, handle
5 rains 6 lost

L= TZaiA e AlZh St &2 AT
o ZHO| AAINOILL, EU 2f ZHI 22 AIEHO
L0t U022 IAHAIRIS MOF SHC.

Ltz Sara?t =AFeh 7R HAZRFOA 7|02 Q7

t.

ot Xt Af
AN

i

ME LiEt= SAPR0|Z 2 Dj2He| YO2te HTHAIME
==
S0| RFaHA L= 22 AX| HUAT
o ZHO| AAIHOILL, EU of ZHI 22 AIEO
Lot LO|22 IAAMIE MOF BT
U= 20 21 20l 0EA HMRAL?
A0 Lot U022 EAHAIRIS MOF SHC.
L7t HES 2 M3, & 57 20
BIE AL always7t 40 Hh=El= U LIEHHE 2 34Xy
AIRIE MOF St
L= Al S0 S T GAHS AT,
The last time0| 0|71= HO| IpH0|22 FQ|

=

=28= ot

03



HAHIE MOF BT,

1 eats 2 wrote 3 went 4 studied 5 will come
back 6 hurry

Al
=

1 Trevor= 2l &= 4 %Xl = 1

OF H0f2iTt,

RIEHQI SHOIL JEHE LENE Th= SHAINIE 20,

2 Shakespeare= RY%! sl52 BO| XLt

A A2 IAANZ LIEFHCE
3 Jimmys AE0| JI7HE F H 2UCL

IH(last year)2l LO|E2 WHAIK|Z AOF FHTY,
4 A1 TYAO0E OEA HiRU?

B: QUELI0OIM S2301.

WAHAMZ 210 JALE 2 MHAINZ CHEFSICE
5 GOl &N SO0tEX| SUHEIE ENR?

whenZ0| HAPHO|Z 2 AH[O] 37 OHAIKIS Lk
6 Y7t MFEE HAS & 4 U= {OF

ZAE UEIL=E SAFE0IAME D[22 LORt= SHTAIH
Cf.

rr

a3

ajo
o

il
3

C

10 2live —lived 3 ate — eat 4 was — is
5 will finish — finishes

1 1901H0] M= +=HO0IAH Victoria HO0| AL
c.
AR AHAIO|ZZ DPAAIM|Z LIEHACE
head 502|, X|u{Xt
2 Columbuse 18A17(01 A UL,
AR AHHO|Z2 BEAAIKZ LIEHHOF SHCL,
3 QFO0l= ™ MA AFZSO0| OfAOF SAIE H=Lt,
EAt nowadaysZ =0t #xH0| YOt YRR At
LIEFHHZE SHIHAIKIE MOF SHT,

njo

4 oIS QAN Tt
U AP HITYAIRZ LIERHCE,
Q

Bl B2 U2 B22l 2 2ol
as7t |11 RAFES 12 LEHHSZ, Dj2Ho)
<>E'0|ar SUTHAIRIZ A LIERACE,

pick up (xH2) AlS ES01A E42Lt

04  G-ZONE WORKBOOK

D

1 did, saw 2 graduate 3 play

1 A MikeE 2 OMX[2fO 2 $HL|?
B: Xt EQY0]| 2oy,
20| 2HE LEH= 2At last7h A D2 IZAH|
g 10F ofdl, CHE: ZtAHAIMZ SHOF SHCt,

Epell §01| % & GiIFo[L?
E

r t Ue 2APE0|Z 2 Oj2je] ojzt
= %IHAIHIE AA] LEEFHACE

internshlp AR 27
3 A HE RO 292 6H?

B: L= 28 oM HITL s dh.
HE9| MMt usually2 HOt K| H2E LIEILEE
SMAIME 0

WRITING PRACTICE

1 next, train, comes 2 will, tell, arrives
3 was, warm, took, off 4 received, an, Academy,
Award 5 do, you, usually, wake, up

1> AZHES 20| 2H405] FolK ks D2 STANIE Lt
B 4 9IC,
2 > ZFEe ORlY Y2 UEISE DIIAHR will tellg 2

iy

L}, as soon as Olot= ME LIEHE SAFH0IEZE &
THAIMIE WA O]2He] g LIEHHT,
3 > Aol Yoj CHo LSt UO T2 = Tt PHAIMZ LIE
LiC}
{712] 0i| CHaH st QOB AN E LIEPHCE
5 > X0 YolLt= BIEXQI U022 AMAIKZ LIEHACE,

-

F =Y
Rl



02 D[ AL A

CHECK UP

—

will 2 am going to 2 are going 4 will

1 AL LI X0l 710F S,
B: U7t 245t X2 HIHTHEA.
019 QXIS LEHHEZ will o] RFHAHC,
2 AUsdRe SO0
B: Lt W e HIRIERE 7ok
=% B7t 02| Fats2 ¥ "ot
going to7} AFAAZLE
3 R2ls 480k 2 ok Uk 20| Z2?
Oj2| Fattl A=ls e o AMTIBHS MM LIETE -
ULt
4 ot 20| E2f U 7tM HOroFaLt

£5XO2 H3t YD willg 2o,

oo be

m

r

A

1 are going to have 2 will take 3 is going to
have 4 is going to take 5 will pay

1 XN oS & = AL L2,
e HES ZHRE Tk DS oS5t A8 R
be going toS #Lt,
2 MY 7|= ZAHEHSHR O W7F XIF 7EK|2 LA,
Z0{9] 9X|Z L5t YC D2 willg £Ct.
3 ZLI—E Y F0|1, 60l S4t oI FOICt
0] O HE YU0IZE be going toS £LC
B5] ARl HIIZ =0 A0M LY 215

AlE Eih= 010] 0 EE AHHOIER be going toE &

5 Wt es ﬁ'—*g HEFE a2 Wor Al

COZ willg 2Lk

B
2
1o
1o
Ral
T
ne
_oI
39

1 am going to watch 2 will do 3 are going to be
late 4 will not forget 5 will have

T AZIE AY ot AU?
B: OfL, TV TFHIE2| Eaqil of,
= AZt S0127]| Zofl 0[0] TVE 2241 A6tk U
S & 2 o o™= O[22 Yoll= be going toS
O
2 A l—kE ese ¥
ZO0f, W7t 2.

SXOZ ZAXSH U022 willS 2LF,

)

s

28 717] 0.

0

A

groceries M&&, &3t
3 X2 7ol 8AOE 22| =S 7 2T},
S AIZFS 2712 T2 DS 0155t Q0D E be
going toE 2Lk
4 A4 &HK5HE A
B: O|QtaH. CIA|= QF QIAICHT Qb5
5 XN 3HMHE O
4-5 > ‘SICFE =02 Z0{9 X7t HA U2 M= wills
2L,

ar
-|>4
t_o

—l
40
ut
El
omm
ofor o
I'I\_I’ =2
= ﬂ_,\l_
U 36
X 0
=
[1a)
Ho S
=~
= =
up =
y
S
n
pa}
]

N
r
mr g
o =2
oo ox
Jon
>

0 =2

3 703175t H O UCHE L= 5 ¥ CRA| LS AEA7|X] o

HYAZ X LCHE of41 QXIS LIEHA T ULt

D

1 am going to learn 2 will 3 Are you going to

o] J‘._1—‘?'—51 A2gt U LIEHHER be going to7t

R AAHLE
2 AN ERRAY Bt WoF =okEA.
B: I_'E'H'-J

OF AFS S LIEHEE willo] XIHARICE
EL? s ALBEES AR 70F?
B: 8. 1 Bl =@40] THS Z=01| 04!
X HES HIEC R IR D2E oiEste Aese
be going to7t AFHAAZLE



WRITING PRACTICE

1is, going, to, play 2 will, post, these, letters
3 will, turn, it, off 4 is, going, to, come
5is, going, to, rain

1 > Aol ojo] 2HE 22 UEHHEZ be going to7t &

L
2 » ZEXNOo= AFSE UO|ER willg M= 20| XAHAAH
=
post (HXIS) FX|ot

|
3 > 2UY SOl XIS LIEHER wills 0.
0] A&E L2 be going toZ LIEH 4= QUL
£ /2 71 DS 0I5t 20122 be

CHECK UP

1 am trying 2 will be sleeping 3 stopped
4 are working

1 A MIEA oFR| 2Ot Xig ArALl O QUE 2
O[OF.
F

u)

(]
rr

t
Ct.

make a noise 23S LT, A|DFA| otCt

= & 10A] H0iME 22| Toll HStsHR| Of, 0F7|7F Kol
£ 710k,

ool £ Al T Y U Lot Q2D = 0|2y
TIHSHS MOF BHCL,

3 W7t Joano| Ho| SIS O 1L 2SS ol AU

Aol &

oz
o
ro
e
mjo
r
m

£
=
rir
e
=
>
ot
odr
njo

g

N
FO

$0

06 G-ZONE WORKBOOK

A

1 will be attending 2 was playing 3 am helping
4 will be making

1T U

0| Oamfar.
§ Alexs ZIBE HYUS 5t UUC
2 | X&E SE@ATIHS), 5 A
L. =

I_

5'( tHAIH)OICE,

70,
S 0l AIF0| T £ LS UotEZ 02X S
AOF Bt
by the time ~& [HZ0|H

1 While | was shopping, | met Mandy.

2 He came home while | was washing the dishes.
3 While | was walking down the road, | saw Bill.

4 Jim was arguing with his mother when | called
him.

5 | burned my finger when | was making spaghetti.
6 When | visited Sarah, she was making her bed.

0 U7t ZEde 2 Us o 277t HSHE AL,

1 U= 4%8 07t MandyS 2Lt

2 W7 HHXIE St S0 17t FHoll i

3 Lie Zg M2t 2ot Billg BTt

4 JimO] Ap7| 0t UTHES Sl US O Li7F Mt

aon
o
argue &= ”5H1f

(¢}

_['__

T

>

H

=

m

0z ﬂ||ﬂ.|

1~6

ro

S Sf= £5 CIE AR SX0| 7l0{EE 43
LIEHHRIZ, O 24 XigEks

o2, 10| Hia} 7 OIZ04X|
EfLACY,

mjo
OH'I il
r|5
=
N
>
2
HU

i

-



C

1 am watching 2 was preparing 2 is always
complaining

1 A Mike, LIS fIoliM 42{7|5 Li=ot
B: L&0il o= 2771? Xg W7t 7+ E0tots TV 2211
gs 237 A0,

fol= AIEO TR S LOI22 AT = LEE

=2i?

o

=
ml

=
N
1o
am
o
>
ikl
=2
A
0%
o
2

rl
mO

0|22 IATIRYHC

B: SOt 2k B7H0f Chal = s,
SHITIEO] always2t BIH A0 Kj5= BrE &= 32|0f
Chet STts LIEHE &= ULt

whiner £2Iti= Atg!

0?2
gt

WRITING PRACTICE

1 is, always, telling, me 2 When, arrived, were,
watching 3 will, be, repairing 4 am, visiting
5 is, learning, how, to, cook

1 > alwayseh SIXHTIRRO0| 374 404 B X SQlof Tt =
B OIRIN SE0IH OF1E BiE A2 27

o
3> D2hel S AFOIN T FY SH0|22 0TIHH

4 > 7P)h2 DO O e 22 ARHTHHC = LIEH 5 QU
Ch Ee= 3019 9X|E UEH= 22 B 1 will visits
M A THSOlT.

5 > ZZ20 EAHLZ of1 QU= LO|E2 AMTHH =

LHEFEHCY,

4 S A vs. A2

CHECK UP

1 have 2 israining 3 sleep 4 feel
5 do you belong

1 He =0 Ms0] Ak

haveZt AR3ICIE S8 M= TAMHOZ MX| ob=Ct
2 X2 HI7t 20| 1 QU L= HIZF 21E kK| Holl e

A0|ct,

[u]
fon
|ru

ol

QU= B B7t 911 UODR I
20 16AIZH0IAT 1812 Zic,
HI0I22 SITHAIHIZ £,

(2]
kl

rnr me 09
rz
Ao
re

i=}

F =N

-

inl
|

m -

1 goes 2 is washing 3 am reading 4 need
5 connects 6 am thinking

i
SHEXO 2 UOLt= Y2 HTHAIMIZ LIEFHCE
Ji= QEHI0IE A1 Rl
3 HMSES XRX] Dfﬂh L7t XIZ L AU 7L,
put away ALt
4 Ct2|0IHO| ofn] AU? ' T Eash,
neede= TIAHOZ MX| gh=Ct,
ironing board C2{0jH
5 Z2U= MOIAATQ O 7
2 ”51 I A2 STHAIHIZ LIEHH
6 L= M AREE a7t 42 0|0t 0
think7t T1246IH'S S8 M= o= &

outdated F4l°!

9

=

Tl

2~3 > oStz A0 T B2 L2 MTAHC = LIE}

Ct.

ARZH0| BIZ OFES EQOf BHCHT A4}

07



1 speaks 2 is boiling 3 flows 4 am looking for
5 knows

D

1 usually relax 2 smells, tastes 3 am having

Benny= S20{0] Ot 5&5ITE 1= =U0E REH
TAFSIC,

PNESLe]

LX01 HENE LIEHHE 2 SMAIME L0
fluently 22 8f71|

Db B4 A 7tA

DE*EFE
Ct.
Brian2 £2 istof 7123 Eas| SRalof ettt As

N

O°I"
og!
|0
b
1=
Ral
52
i
o

knowe 7

C

1

08

1 is liking — likes 2 O 3 I'm thinking — | think
4 O 5 drive — am driving
6 I'm not wanting — | don't want

4

A

rr
ﬂJ\O

e 2 P‘.J% = E Gl
like= XIHOZ 79| MO|X| 2=

Kathyi OFILEO| A OJAF LEZTIE Azt §0|Ef.
think7t “0245tCFQ| 2l0|Y ZR0= TIHAHS £ 2 U
ct.

Lt= SamO| I 2|0l MUKt
think7t “2Crel onjY mi= XS MX| =Lt

qualified Xt230] U=

0] Uk LELMIF?
believe2t Z0| HEIE LIEILE= SAt= TIBHOZ M
X| =L,

L= K=

= 12000 THalAf LA 2 4= g0]. IS 20)

G-ZONE WORKBOOK

1 A EZ =0 g ofy?
B: L= 28 oM X2

REL Tl OIS e

G409 gr=XQl 0|22 ARHAIMZ LHEFHCY,

smell"‘ f taste”t 22
RISHE{O 2 MX| Y=L}

o o—

=02 MY AL

3 A o2 ofry?
B: 0% AH0IQls AIZES BT Q0]
oY 5 o

WRITING PRACTICE

1 think, suits, you 2 have, amazing, memories

f>AMZE ~olTf, "SE0] ~oltteks

3 is, feeling, guilty 4 belongs, to 5 goes, around

2 > have7t £R9 £02 MU AL TS MX| Oh=

3 > feel0] 7|20] ~oiCfe) 502 MU AL TFFHOZ
= ULt

4 > AR LFEH-HE belong @‘%QE M| =

CHECK UP

1 got 2 hasn't called 3 Have you read
4 has just left

1 Jean2 X0l M22 LAEE FRICL

= MARE MK AlZHo 23 Ls U

EHHER, last week M2 Hulidt MHE LiEHh= &

(F)=t= B 2 == Sl

A



2 Jack2 OfBII0f AMQI0) AFSHKITH OFE] LEofA Mstst
X| OFOITY

AU =S MAAHRE] XU 20 Thsl 2ot

QAOD2 FAARES ME 0| YYTE HHRY yet

il

2 '0FR0j2ts S0 FE AR B MOICE

He I AMS i CF YAL?

alreadye= 0|0}, HM'2h= SO

02 FMREL AAMFE MK

4 A Field Mt oop7| & & =
B: Z&ELICIC g o2 7
HOZ HUM XIF it

A=2ES MOF FHCh

pal i}

3 Uie

Hu
i
bl
10
ro
HLI
i
I
m
=

530
oy mjo 2
=
0 o

D

1o
=]
Hu
N}
i)
i
I
m
=

Ir
o
=

A

1 has already cleaned the kitchen
2 hasn't read a newspaper yet

3 has already watered the plants
4 has just made toast

> 1= w3 NS opc
> O 01 2 UK YU

1 OE s RS YAyt

2 O OfF M2E AX| T
3 Oi W SR B3 U0
4 19 EAES BISQI

B

1 has lost 2 has broken 3 has arrived 4 has risen

Tobyis X218 &1 9UCt. 2 XIS YOIBIRCY

2 Joan2 2| RBILL Qi Claizt AT,

3 95 0f L EX
200 QU BRI SAR 20|,

4 o) A 232 110020/91C X

£ 7|t ARG Xz U= BRE

32 1,2000]Ct,

2 U B 27 28152 Cfelt g2t % 0
= WAl 942 HEIYS, BAV & 2
%)

o=,
201922 L 1% 1 RS oDiEck

C

1 I've just finished an English composition course
2 My father hasn't given up smoking yet
3 My sisters have gone to France

SeanOf|Al
K0 HojlA Hakst 0]F0f Ze 0| UAU.
0 Liz 9 A XHHE M0,

1 Le 342 1gs 2 200
composition =
2 OHth= OF% HHIE BRI 2501,

3 W HSMER DAY TN X2 0§7] 801,
1~3 » siMetRE "havelhas] v-ed.2 SHEHZ 2Lt

D

1 have left 2 haven't phoned

ey
[e]

R QHOfl S0 2HO0,
THetE
2 A’ Samantha”l 22|2+ 20| 2Z=0[0f 77|12 &iL?
B: OF OJ2L. L7} OF&! Tl Tats =3
OFZ] M35 RRCH= LOIZE yetS MA] %IH%E%
&EI—

1 AU Mg EA
B: Of, OJetal. 37|
ZIE LIEHf= 3K

1o

A
nn

I T4

=

fireworks display 20|

WRITING PRACTICE

1 haven't, decided

2 have, watched, the, movie

3 has, worked, for, the, company
4 have, forgotten, his, number

yet2 2HE

SHEAN OFE0I2HE £

2 > NEK9 d™E Lol QU
MA=E 2.

3 IRE I ALEE DS Lokl UAEE AL
2 UEUE =S 20

4 > 719 Lol T D|xl= Fes Lol ALB = Zit

£ UEHE MA=E 20

09



6 AR ||

CHECK UP

1 have ever met 2 for 3 gone 4 been

1 U2 M7t OIMIZHA| 2tz 71 288t MdgolaLth

o
S7f OIRITR| ~8t A & 744 -5H0j2h= S£O & the +

ZA42 + S + have ever v-ed, 7
2 U=
ch.

0 3 & Sl= AMHE

forLt since 25 SAHAZt SHH MO H&S LIEFNX]
2t for CH20lE 71240, since TH20ll= 8 AIE0| 2

Ct.
volunteer XIIStCE XHEISHA] SHCH
3 Joe= ®7I B0IC} = T2|A0] 24Tk,
has gone to= J2|A00 7t1 07| gith= 522
E LIERHCE
4 ZAZHL0| 7F X0| Qlof?

~0 7t & X0| UC¥et= ZEe LEHE M= have

been toS £L+.

A

1 Brad has played the piano for five years.

2 |'ve lived in Canada since 2014.
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1 have eaten 2 haven't driven 3 has, been
4 have never used 5 has gone
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B: = AR 7t g

1,3, 4> 3gs '—fEH-HL HRAZ 2 S & MO0|= BALE
ever, never, times, before

2 AEE LEE Sxfa=et 8 & 40| B2
for, since, "how long ~?% 50| L.

5 SMEOl 7k XIZ Gl W0|122 FI'E LEHHE=
sxet=

C

1 lived — have lived 2 since — for 3 been —
gone 4O
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2 Li= of2f o 32 DavidS 21 X|RCt
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1 have gone 2 have you lived 3 I've ever
experienced

1 A Billzt Ben2 ofT] UL?
B: £85I 7t Q0. JHE2 2 S0t= 7Ok
25t 7, J24M of7] gittats S22 have
gones MOF &Lt
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amazing S22, St / experience Z5HCH

WRITING PRACTICE

1 have, known, him, for

2 the, saddest, movie, have, ever, seen
3 has, never, been, to

4 has, written, since

5 has, gone, to, Japan

1,4 > A%s HEE S0 ct,
2,3 » dgis UEUE Met=0IT
5 ZIE LEH= SX2k=0 0t
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1 visited 2 did you finish 3 has jammed
4 did you get
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1 stopped 2 have never talked 3 have forgotten
4 arrested 5 was, have been

1 L= 25 S ARE AYs JUFAXL Xg2 IAs
CAl Sfx QU
SRlE CRAl ofal AN 0 J9hE A2 SXts 33

o
9

| Si= 21| LO|2= MAHANIE 2L
2 Lk= Tomofl thall 79| =2t L= 19F ket H0] gio].

S|
SIXTIK|S] ZYE Lol UL JiA=E 20

FI?

3 U=
BRI
A0 SJ0fH{E 2t HTHO = 7|2otA| Rot= JEH0I2
2 aes 2o

4 ZE2 M Z= MEIXL, LS 255 S0F00F

A0 HMZEohA 0j0f S0
H2O2 WAHANIE 20

7| HZ 0l SHARH L0

let ~ go ~& E0IFLt
5 OF MRH 22 U AFH0IE FMY 3
WALH MK ALS UEHE ezl =%

FEOf 20t

=3

ct.

mjo

—r

Dont know. 2 Don't know. 2 Yes. 4 Yes.
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1 has grown up — grew up 2 O 3 been — gone
4 O 5 has made — made
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1 hasn't arrived 2 did Justin move 3 hasn't rained
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WRITING PRACTICE

1 has, lived, in, for

2 wore, glasses, when, was
3 broke, haven't, had

4 has, announced, plans

5 worked, for, works, for

5EM AL ACFE SIME Zefols TE0I2 2 HRRt
25 MOF 5tH, 717t0] LIRE 2 forg Lt

AR A A 8 20|22 TEAAMZ LHEFHT,
35 HOl2kE FAIHR! A AIF| 20] F2iT A0|12=
DHAIMZ, RS 2M7t SAE A2 AxHLt 220]
A2 SRtz 2 LIEFHD,
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1 had left 2 will have lived 3 had been listening
4 will have been playing
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1 had already been 2 will have finished
3 has worked 4 hadn't checked
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1 had already gone 2 will have finished 2 O
4 will have been teaching
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1 has been crying for half an hour

2 will have been working for the company for 20
years next year

3 have been dating for three months

J 0P| 302m 21 Qi
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WRITING PRACTICE

1 got, to, had, already, started
2 will, have, finished

3 had, been, playing

4 will, have, retired
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1 be able to 2 were ableto 3 can 4 Can it be
5 could 6 can
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WRITING PRACTICE

1 can, be, addictive

2 can't[couldn’t], have, witnessed
3 will, be, able, to
4 was, able, to, stop

5 passenger, can, take

O|EXQI Tt LIEE Of canS 2L
"can't{couldn't] have v- ed E Ae 27t etk
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o may, might
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1 may be 2 may well 3 might not have slept
4 May
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4 Sam2 =A EARIEXE Z20)
c. Joe Ul £ A= EX| UU=AIE ZEL,
properly H&t5P, SHi27

1 may be feeling ill 2 may have had an argument
3 may have missed his train

1 A Trevore 2 X| 427172
B: otof OFF XK= =2t
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1 may as well take a bus 2 may as well wait
3 may well be annoyed 4 may well rain
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WRITING PRACTICE

1 might, not, know

2 may, well, speak

3 may, as, well, give

4 might, not, have, received
5 may, have, experienced

1 might= may@t OFEZEX|2 HRHLE O2H2] 20)| CHEt
S F5 IJts838 UEE £ o

2 ~ot= A GSICHE BFE may wellS 201
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l 1 will, would, shall
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1 will 2 would 3 would 4 will 5 Shall
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3 Sean2 Chg & IHE YEsHC Fﬁ—.‘-?ﬂ'l.
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2 20| gl =g Ro|ck
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1 Shall, meet 2 will stop 3 would, drink 4 will
get fat
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1 will — would 2 Will we — Shallwe 2 O
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1 Will 2 would 2 Would
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WRITING PRACTICE

1 shall | visit you again
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2 would take a walk

3 will do our best

4 she would give the book back
5 wouldn't be an easy thing
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Ct.
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ought to
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1 must not 2 have to 3 shouldn't have talked
4 dance 5 must have left
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M= 21 had to7t =0{0F BHCt.

2 ANHE2 HHY YT Fol FRSHME o Elok
BAIE HEHHEZ must notS MOF Bt

entrance &

3 HHAIHE F7F 300 FME HeE ISLIC
don't have to: ~& Rt giCt (EHQ)

4 SMES LUK otet HHIE ELHOF & Z0|Ct
ZSAL £ 7HE GE0F £ £ 9252 have to

5 & 10M7Z otdr QT &= X7 A SE el

must= S4xH Lo EH?J et F5S LIEHHCL

I__|
6 49 XtSRZE AR II'_ SlE As 24, J4= 0[] Hi

=50 SEelth

2] Uoj| oist 241 LIEH= "must have v-ed,

1 shouldn't have gone jogging 2 should see
3 should have come 4 should have gotten up
5 should get some sleep

1 Michael2 Y=g CHACEL d= HI7F @0 26 JHX|
QAOIOF FHC
ankle &=
2 =0]Of= Tt 2RICt H0l| ZtOFZICt
sore MBH2= / stuffy & Ldls, 27t 943l
3 MAE= BY SOIZRCEL HE 20| Z40{0F =,
exhibition TAI2] / come along M2tRLt
4 Dianae 25 £ £%0Il =01 JH= & O L% Aokt
0f0F 3H=0.
5 Jill2 Xl %o| mzstct, = &e & Kot
at the moment HIZ X|2
1, 3, 4 > should have v-ed: ~3{0{0F ZHCH (TAHO|| L5t
Aoi| St F3|LE RS LIEH)
2,5 should + SAHAE: ~aH0F BHH (HR)

ro

t.



1 > ~sliM= ¢t Jtfs SAIE LEHHE must not
exceed ZI5ICt / speed limit HEHSE
2 > OIRO{XIX| g2 Lof CHal ~5HOF SHEF D M(Ctot= 28
9] that=oilA "(should) + SAHAH,
3 > 19 Yoil ot £33 LEHE [ "should (not) have

v-ed;

D

1 ought to call 2 should try 3 didn't do
4 must be

1 Ar Lucy/t L2t OJ0F7 (ot S| 240t OfEA| oHoF Ef?
B: MzlolfA] D)ttt ZEHOFX].
(OrE3]) ~choF SHofat= S8 LIEHHEE ought to7t

LIOAM.- Q- HIT-A
Holl= "(should) + SAHE .S £LL
3 A John2 R17|7F ZREH A TE QAT T,
B: &= HUZ M5 QIHGHK| 94X,
0]0] el Aol Chet 20|22 AX|Of SEA| A
2 AOF fC,
4 A Ron2 2 H0|0F?
B: 1= L{HCH &M O LIO|7} 20} MOE 3542 EQie
7{oF,

O 2ot 272 20} ~0| Sicyata

s3

"

WRITING PRACTICE

1 should, have, practiced
2 He, insisted, support

3 have[need], to, pay

4 ought, not, to, judge

1 > ~3U0{0F CH= 29| Lo Tt 2315 LEHHE 2

'should have v-ed.S #Ct.

2 > O|ROIX|X| 42 il Chalf ~GHOF BHCH Y F&Gt= 28
9| thatHol A= "(should) + SAHRE.,S £L

3 > don't have to: ~& HR7t giCt

4 > ~ofoF &tCre| o2l ought to2l £H2 ought not

toOlLt.

1 3 used to, had better, would
rather, need

CHECK UP

1 used to 2 had better 2 would rather
4 ysed to 5 need not talk

1 U= ORS O Y APHAS Ef2 AT
9| BteE HS0|L X|&E HEl= used toZ LIEH
HEY,
= = Aot

2

£ 20t

3 L= 2= HAE Bl Xi2t2] ZoIM ol Z7Hc
would rather A than B: Bst=L| Xt2t2| Aot

4 ool X 2S00 ZF 77 UUCL
DAY X|&E HEE LIEHE = used tolF £ 4 U
Ct.

second-hand 119

5 <27t g% JA0| &M 0712 HaE= it
need’t EHE0M ZSAIE XY M= need not talk
2, YetsAlR2 M TiE= don't need to talk®2 fALH

A

1 used to feed 2 are used to save
3 am not used to cooking 4 used to look
5 is used to waking up

1 HeoRe o 0= S
AL,

ROIM 2|0 A HOIE =2

]

used to-v: ~ot2 HCt
feed HO|Z =Tt

2 FHXV|= MES 5= O AFREIC
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be used to-v: ~6t= O AFRE|Ct be used to v-ing: ~0ll 2J25iCH

3 L= 22|5k= O U=SHA] 20t 2E XS it 4 L= M HXIE Q1 X QT O HiKl= LS SSoH 2
be used to v-ing: ~0i 2l=5tCt 0l Bk,
4 Lb= OX0l= 0f OFRI0] HACLY £[Z0fl= HMSO0| O] S-S0 20|22 1 MX| 2Che= 222 would rather
=ACL notS #LCh
used to= MO K| E AE 5 st 010 RYot= 2eiE MFO| St QUL
5 Ronny= Y™ U0jLk= G| A=siA OFF 7AI0f BiLb= 2 IAQ| MEHE LIEH M= used toS Lt
J0iH 3 2xgie Aol stubborn &8t TF Ml / run 2HatCH

be used to v-ing: ~0il 2=5HCt

D
B
1 | used to play basketball
1 would rather give up 2 would rather go 2 | would rather go to the movies than
3 had better start 4 had better tell 3 We had better think about going
5 had better visit 6 Would, rather have 4 You need to wear sunglasses in bright sunlight
1 L= BEHAE st=L xi2t2| AI-S 27|15t 1 L= =75 ¥0| stz ULk XF2 S=E it
cheat (AIR0IA) 2HHLIS STt A9 gheE =S LIEHNE= used to
2 Lh= oW Z ARHES ohd 720 OFLIof 2 L= ol 2xt ey xt2t2] FSHE 22 710,
in the mood to-v ~& 7|20] =& would rather A than B: Bst=L| XI2t2| AstZICt
3 L= 25 2ol HI47|S Efof of. O[X| &le M7| AIZfeHOF 3 =oI0 R2ls Tl S0hs 2 MZtksHor o
Zc} had better: ~ot= 20| WLt (1)
pack Z& Mct 4 o =2 HS5P| flol 2 ML MI2UAS £ H
4 Ue AAe Zote 2l £204. oF T2 L7 SHIO1. It oL,
5 =2t *5H3r Anitaz 3t & 7{0F, J2iL| LIZ0l| 7t need’t YEFEAIR M M= FHO| SEHOZ toRHALS
= Al &%
6 MY AAMZ St Y AL
1 would rather A than B: Bat=L| xt2t2| AstZCH
2~5 > had better: ~5t= Al £ AoICt WRITING PRACTICE
6 would rather: ~6t11 MO{StCH
1 would, rather, dance, than, sing 2 Did, use, to,
C visit 3 had, better, show 4 need, not, answer

5 are, used, to, make
1 O 2 don't need pay — don't need to pay E&
would rather A than B: Bat=L| Xt2t2| AstZCH

need not pay 3 live — living 4 O 5 would — e
2 > WA FAIEQI SEE UEIE used to2] 2IRE2

used to
Did + F0{ + use to ~%
1T L= J0A 2 0712 ot = A S8 A 24 = 4 orphanage 10h¢
g Aol 3 > ~ote Al £8 Aoltrete 515 UEHH= had better
had better2| 2H2 better F0il notS E0{Al LIEFA 4 > ZBM need? £ need not
ch. 5 » be used to-v: ~ot= Ol AFZECH

2 52 392 27| *ls =2 TS WA ot Ect
need’t SER0M ZSAZ AL [= need not pay
2, YESAE XY T= don't need to payZ £ 5

3 U9 2REYR2 HEAOM Als 200 2=55HA| 20
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14 ZESA2| o|ojE e 1b 2a 3b

1 A Martin2 9ff 2= Sfuof QF 2HX|?

B: 2, O}=AIE 227
mays= BEUE 253 LELIDR ‘S aoikis oXfe
CHECK UP ol 2 Gk 20 £

1 was able to 2 should 3 must 4 can't M
B: &= #7} Ql04. L7} =312 o HEXE 22t

1 Ui ZR0N 07 IS B 4 Ut might have v-ed/= SRS RECFE E02 2
7o) EFEE A0 st 22 was[were] able toS o] QY| CHSH EEASH XS LIEHOZ LI} =35t2
ZH SEX| OF SEX| BHAIBIR| QUL 0| HC
2 IAge ﬁE||0|37f Yol L= 2200 7t HoF o, 3 AU 7 #7] R
A7} motE HRQIt OB R shouldZ7h L. B: M4S0| 77|12 O Z3H0{0f ai=g|.
3 i 2 HO0i Cfot BOI Ht. Ji= 1 MS QM 201 S "should have v-edi= ~#010} #=t2s £o2 at
Ba. 79l ofl CiEt RS UEIISZE M4S0| B7IE &
A0 CHSt 8t =& LIEHRE "must have v-ed, SSHCFE =2 oy 9ct
4 17 et 27t glnt, JlE e & J2|X| R,
~ 27t giTkel on|z Bt BEA £58 UEUEs C
can't7h Yt
1d 2c 3a
A 1 HZF 2 A 20t U= =2 HOMoRL
1 must be 2 might have closed 3 ought to look 2 S11-220] OIS HEILIOF S22 wouldi= X
4 can't have been 5 couldn't see oAl .
2 o7 SE0I| QU01. SammyZt SEQI[Y & QU01].
1 Marke Peter= M= 211 M2 HRUCH IS MO AL ==0| o|0|Z LIEHNOF 22 used to= XE
ST, Sl eact,
must= ~Y0| SERH'E L8 F=S LEHLL 3 AFUME =S UK0| QF0IC}, 2= 0052 6Ht =
surname A(#4) / look alike Tt =52 CHAOF SHC}
2 Lts QS0 ATl BIX] BIICE, A0 22 29 2oy JR QT2 -22E LEHJSE be able to
SXl= =2, = HEIR| Tt
"might have v-edi= ~RHSX|E ZECK = DA Aof| compulsory 2RI, ol ol
Oish S&tast 255 LIEHHACE
3 SQE M mi= 90| Bl Q73S 2 Bof it D
ought to= ‘aHi0F BtTt, Stz X0| ECF2h= £22 T
=2 310 7140 1 may have gotten 2 ought to try 3 must have
expiration 2H&, & left

4 7 Mol JtED FHEE Fl=ol MW lE 2 EX
1 ArAnn2 2ff OFA ¢F 2tLI? 3020|Lt =AU,

B: JU4= 25 SUSK= =2
EUY ~HEXE ZELFEHE A9 Lof et £55
LIEHHEZ "may have
2 A U= X o Ei= SAE HORHOF of. F U
B: I2§? HojZ Ttet E2 0
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LA el ERE LEIEE ought toS 2Lk
3 AOART 7?“*0|XI'7

B: Polly7t 047] 11 7t 7 E&Qlol.
P ARHO| CHE EHAISH 258 LIEHHE 2 "must have
v-eng 2L,

WRITING PRACTICE

1 was, able, to, recognize 2 must, have, donated
3 may[might], have, witnessed 4 had, better, hurry

1 A EF Ao HME sl U2 waslwere] able
to= LIEFHLE
2 > must have v-ed: ~3#S0| SZQICH (2 ARHOY CHEt
Eh)
donate 7|S5tCt 7IESHC / charity X, RRATA|
3 > maylmight] have v-ed: ~3SX|= Z2Ct (A
st 255t 2 X)
4 > had better: ~5t

£ [t (B1E UEX 28 ER =
H7t M 2 Qtks Z0E Ui=)

SL= oT T

UNIT_____ T
15 +SE2l 7|2 74'E & el

CHECK UP

1 are caused by 2 lacked 3 rises, sets
4 were woken up by 5 was built

—
el

=
Z0{2l Many acadentsﬂ SAt cause?l Tigo|E2
>SE ZHO0| =0{0F BTt »SEf M AR 0l
= MRIAF byt =0

2 = R0 ZZ0| g0 sEES 0lacHR] RIUCH
lack2 EFSALOIX|ZE ~SEHE MX| Qh=Lt,

lack ~O] 2 Z=35tCt
3 EHY2 SERUM ME2tM MR TC)

riselt set2 AHSAO|E 2 4SEIZ £ 4= giCt

4 = oMo A2 S 2|0 XO0| Z4Ct
9] Uo|2 2 S~FEfQ| MUAHHR "was[were] v-ed.2
LHEFAC,
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wake up 7H2Lt / loud A2t

5 0] A2 189710 X/ofHCt
Sfo| MR} LB ZLBHX U2 T S
Rts Ss| WalX| 91 £SES Ao

1 My calculator was taken by Martha.

2 | was accused of stealing money.

3 This library isn't used by students often. =&
This library isn't often used by students.

4 All public events were postponed by the
government because of the weather.

0 O] At Hill= 7HASE OtsS2 i EotEL
— 7td%t OtSS2 0] A HAHOA 0 =2 S =Lt
charity RHACER]|
1 MarthaZt W AIM7IS ZERZACE
— W A= MarthaOil 2Jslf 7HR7 HRICE
calculator A7

2 SoPF =S 87 "oz LtE nEin:

off 2lsH Xf¥ OI%EI?(I o=t

StYE
4 FYR= N R0 ZE S AS ARG
— M 20| 2= S4 YA ZR0) 2fs A7I=AC,
postpone 2175t
1~4 > 382 7|2 HEl= "be v-ed.0|H beSAIS| HEIS
HEAIA YAU2 AME HEHHLD F0{ QF Dt 40
LRIAZICE

1 be held 2 is located 3 were killed
4 disappeared 5 is baked 6 was damaged

12 iIQIE Chs 3 SE0IA 23 Z0ICk
3|ol= 'Hil= LIY0|22 ~FEE r
2 Xz Alujol /It s2E ﬁﬁHB
Z0{ that(= a hotel)0|
2 2L}
locate ~0f LI, ~9| XIS T
3 X S2AHQl0] 2 Sot
Z0f Many people0| ‘=€ g3t 40|22 +SEi2
2Lt



hurricane &{2|#|2!

4 AWE0| HARF D= XS *i%’iif
disappear= AISAIOIS2 =FEHZ & 2 QiCh
5 382 Ui OB OR0A %’4 =
Y2 FUXE EH”OIE +SH2 2ot
6 1= XSS HE Tl S22 st =it
7012l The roof7t 24 g2 0|22 +FHZ &
tt.
damage &&Al7|Ct

1 repaired — was repaired 2 held — were held
3 O 4 was arrested — arrested 5 invented — was
invented

F|2o| 242 27} HREOAM 1 B2 Off| EEA0.
Z=0{2! it(the road)0| ‘H4-E= 0|22 S>SHZ £
=
ZHAOI| CHatO A HOfLt P2 Z20| HR=71?

0121 How many concerts?t hold2l &7t OtL|2t
LHAOI2E SAE "be v-ed,2| YEHQ! +SEHZ HHRLL
012l concerts?t =022 wereE L.

O] ZEJ} L HYZ OISTUCHD H2I5HK| =L,

SA suite +SEIE MX| oh=Ct

FEE2 1 NE MR E8C = HIEIICL

0| HESY HOXI0|ZZ SSENZ AHOF SiCt

identity theft 21l =&

Map7|= Alexander Graham Belloil 2foli 1876\ U

| dct,

Z0f The telephone2 "HFE= L0
2Lt

0

rlo

gz +3H=2

D

1

2

3

1 resemble 2 arrives 3 is broken

A: Bricee A7| &g HU0H.
B: 8, O52 M2 0| HUX.
EFSALO]X|ZH

Z At resemble2 SSH=ZE MX| =Lt

Ar CH2 SRt AH| =ASH=X] OfL?
B: ¥ & 20 2 oL
arrives fEMOIDE SHIE MX| =L
7(

AL 07 2 B
B: O, Reld & o7t 7T 24 224,

Z0{ one of the windows= THX|E HA0|E2 =

ER

—_

f. breakOlls XtsAL 8

HE 2Lt T QUX|E
D2 breakse MZE6IX| 2T

SATHAIHIO]

e

WRITING PRACTICE

1 was, punished

2 was, hit, by

3 Is, held, every, four, years

4 is, used, to, produce, electricity
5 were, driven, to, the, airport

0] He7t 'de W= OIYO0|2E SEIZ 20t

201 My brotherZt ‘&{0fl X|0=" LH&0IEE +~SEZ
2L AKX a car Yoil= byE 20ICk

7012l the World Cup ‘gRl=(lz|==) thao|= 2
SEHZE 20 Q220|122 ojx0f RS

201 Nuclear energy= AFSE=" tHA0|E2 S~SEIZ
20},

A

nuclear energy ®1XH= / electricity Z17|

701 The visitorsE ‘Ei¥XIE THAO|E 2 SSEIZ &

Cf

uNIT_____ AE—————
'I 6 +SEf2| 0f2] 7HA] HEY

CHECK UP

1 are being followed 2 had been taken
3 must be finished 4 be disturbed
5 being criticized

22| Fol| F2I7H U
S ot Ao L
Ol22IC) SIS +~ZEi= Tbe being v-edi= L

Ot X|= L7t ol S0t7| Zofl Helof Aad 7Hict
201 My father= ‘Aaf 7H=' HHA0|22 SSEIR 0}
SEHEQ AMZE OIS 2 T B M ojt Yol =
Ho| ANHle HAZE SSEQ! Thad been v-edi2 Lt
EHAC,

0] H1ME 0| ZF Q% Mof| OpR2|=|0{oF SHt,

F0{ This report= TFRE|HE Y022 +SEIZ

23



XEA + be v-ed,2 Lt

Yo AR L0
o
=

em o= 70|02 AE

o4 SENZ =]
ZEHE "to be v-ed,Q] HEHO|CE
H*E HE THQIR| QIRATH

= 019 E SSEIR 20t SHA

5 = US0AM H
Z0| He7t HiH
9| £+EHE "being v-ed,2 FEHO|CL,

criticize HITSICY, HISHCH

A

1 be played 2 to be taken & being taken
3 have been enforced 4 to be treated

10l 7t= Y Ul Ao siof EiCt.
201 This card game0| 8 X|=' H&0|Z2 ~SEY
2 P20 AsAt Qe 239 +5HE= "2SAF + be
v-ed,0|Ck
2 OfRE 0|8Ydt= AS ZO0f6IX| Y=C
¥01 Nobody7t ‘0l dt=" HH0I2 2 S=ZEf2 MOF
O, like= toRHAIR SHAL BFE =X012 Fot=

Et.
take advantage of ~& 0I8sICt
3 M =S80l £Z AFEUCE
Z0{ New labor acts7t A== H&0|22 S>FEIZ
20 sixje= +SEi= "have been v-ed,0ICk
act §§E / enforce (HE 53) AlSsICt

4 OlEXE e HOHH, 22 (HEMY) dSok7| AR
=)

Z0] you?} THRED 40f =" THMO0|ZE S~SHIZ £

Ch 23S ZHlE= o be v-ed.OICk

o]l
Ui

1 will have been written

2 safe driving are being made

3 Has a new band been formed

4 can be understood by some animals

0 HEIXH= ol 0l Ml Bl Z4S sk
— A Ho| ZI210] O] F0f Z2IXtofl 2lsl SHII = UL,
fire S IGHCH
1 4= WK e 2 Zdo0|ck
— 1 MY LHLTEX] Z=(0] QLS AO|Ct,
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=L have bee n v-ed,, MY +SEi=
"be being v-edJ, TSt A= +SHIE TEZSAL +

be v-ed.0|Ct.

C

1 were washing — were being washed 2 O
3 be losing — being lost 4 have released — have
been released 5 O

1 Wi dss AWl s i R3S0] H0l= S0I™U
Ct.
Z0f The windows?} ‘HO|=' 40|22 +SEIZ 2
t.

2 REX=ERME Y F S M 4 UL
keep Floll SZ{0{ the trophy7t UACE 2 S&H 2%
0] SCt.

3 L= ol O Mol Ze Ao 7|90 UL,

Li7t RS LRI losing Floil SE{0{7t 240 5t
=0l gle A2 2ot +SH 2E0[0{0f &S & & AU
ct.

4 T=Of FX| A0l £ WHE U,
201 A number of political prisoners= ‘Z&Lt=[
HolE] 0|22 SSHE 20k SAb latelyZt HaHA
=3Pl Thave been v-ed, HEIZ 2Lt

a number of Ck9| ~ / release 201 FCf, 4
Ct / lately ZZ20f, €0t Hoj

5 X Wl Y= Nathanoll 2Jsh 01Z7?
201 the first presentation0| ‘0|ZX|=" IR 4
SEZ 204

A5t

O|I

D
16 2@ 36

1 W ZREHE= 220 220 X222 & 2S5,
A28l =FE= have been v-ed.O0|Ct,
2 Felol TC|7t XIF 20|11 UOIA HFZO| i A|TECE
Z0] The grasse Hels' HH0|2E S~SHE 20
Ust= A0l O|R0{X|= 0|22 SHIHTIS 4=SEHO|



M "be being v-ed.7t EICt,
3 I O|—__| ':'O I-Ile‘IOE AK_E|O-|OI: oH:I-
20| The water/t ‘HAE = HAYO0|ZE ~SEIZ MH,
ASAE Q= +EH= "2SA + be v-ed,E LIEFHCE

WRITING PRACTICE

1 should, be, checked
2 had, been, warned
3 have, been, made
4 has, to, be, told

1 20§ The machine0| &g 2= LIM0|22 S
2 20t
2 > 0] 7t S 0], BHEO| ANl AR
UM ojt LS LIEILHOF SIE 2 WAE +SEH Thad
been v-ed,S #C
3 » %0f All amazing inventions7} ‘CtS0{X|=" CHA0|1,
A&9l QS LIEHKOF Bt22, Sixfetz S "have

been v-ed,E 2Lt
invention Y, YHE / practical &2
4 » 30{ Rosie’t '2g E=(EILHRIE) B0, ol =

SAZEQICER has to be told7} =0{0F Bt
tct, &

interrupt &sis A7

17 F2fsHof & +~SE

CHECK UP

1 was given to 2 was made for 3 was made
popular 4 was looked after

1O ERs e lE 9ARG
SA givels HHBH0IR} IS HOIS FOIZ Bt 4
3 Qlon], HFSHIZ F0i2 & 0f

t

agency Hi2|E; "H2 7

2 1 ZEM H0|13E 0] H2 RRE *lch US0T Ao|ct
makes ZA™EZ2XMOE 30 =

ol =01 olli= fors L0

Hu
o

3 0] EYAE o U0 QJal RASHAH ZUCE
YO SH2 2ot s 289 +SH=Z, SA
makeE +SHIE HIE %, 552 B0j= T2 201,
4 12Otz W g=dol 2fsh Ct.
SMTE +SHZ £ U= | SAE be v-ed,2
X A2 IR 220

look after E2LCt

on

;zg JJL

t

=g
U

|o

A

1 Jack was offered the position by the company. /
The position was offered to Jack by the company.
2 This coat was bought for me by my boyfriend.

3 | will be taught the history of Korea by my
father. / The history of Korea will be taught to me
by my father.

0 g SHUAM LA 2eiE FE| 8fAS FACL
— L= SHUZRE uE F2 SGAS BT}
— QEHE [E| BIATE SIHLIOIAIA LHojIA| FSHALCE
1 3= JackOll I Xt2IS MIQIHTE
— Jack2 SAZEEH 1 X2|S HQIPATY
— 1 Xf2|7t SIA2RE JackOlAl H2l=|UCt
2 W IREITE LA O] ZES AF FUCL
— 0] ZEE= XTIt IO A} ULt
3 22| OfHXl= Lol =9 AAE 712X =4 Z0|ct
Lt= OHHX[OIAIA St HALS Hil€ Z0ICE
— St HAH= OFHIXIOIAIA LH7 HiE Z40]Ct,
1, 3 > offere teache ZXSE0Q HHSHAHE T2

Sl +5HE s +

£0
|0
=
gl
o
Jio
1
i
Bk
2
Hu
i

1 She wasn't seen to leave[leaving] the house (by
us).

2 Everyone referred to him as “the boss.”

3 This trash should be picked up (by you).

4 The police called off the match for reasons of
public safety.

1 2= 197t g2 Wihe A& 2XA R

— JU7t e Wihe A2 (R2(00l 2ft) 20IXIX| ULt

AZSAte 582 Hojs +SEOIM toR AL E= o



THEALR 2L
2 e ZE NEHEER
— Qe AES

SH TR S0

2 HE0IR SRIC

- (refer to)0ll At (as “the boss) t Ol0{X|=
SHIZ HiE Of 5

%’é*a._* HEfo| +3H 2X0IER, 5
Hoi7t 012 IRIE MUHE FH= 20| 33
refer to A as B AZ B2t ®2rt
3 Ue 0] M7|5 FLJ0F BHCL
— 0| MB|7|= (H0f| 2l5H) Z=Xof St
SATE +SHZE & I M A9 SAIE be v-ed,E

X0 S22 2 At
4 1 Z71= Retg olq= FEO| Qo FAERACE
— JES X022 O|f=E 1 B7|E FARMLCEL

call off F45IC} / public 332

C

1 given to — given 2 O 3 laughed at — laughed
at by 4 made — made to

1 U= Mt MesE BR| 230
SAE givell +SEIOIM ZFESX07E 02 A =
HHSHO| A0 MXAT K| =Lt

2 s YSs 20| HE7IE oA
FHOR =X Ho7t Qe 28 +SHE, A
considerg #+SHIZ HE & 54 H0l= 0= &
c.

2 OlA HIRSS At
S| —E—’émﬂﬁ SHQIXIS LIEHLHE his friends 0l &

o
I'ﬂ
-1
nn

SEAL SEI2 MOF BITY,

D

1 thought 2 given 3 to play 4 to walk[walking]

1 JUHE 22 AFC 2 AL
D09} 2R HO7} Q= 2
Ct.

2 Claire0|#| Z0] Za3LI?
70 the flowers7t RO THHO0|2 2 »SEIT} &
0f0F BtLt.

3 R2l= HoAM HIOL Al % of

MK

AASA let2 +=SH

2HS SEHR 2 230

2401 Bf2te|x| er=Ct,
tOH

"be allowed

[

e
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to-v,2| YEiZ 59| A0|S LEHHDL,

4 DY B ARS0| AHS S2ke A0| SR
RASAtL S8 Hojs +SHOIM toRHAN £ o
THEALZ HHYOF ST,

WRITING PRACTICE

1 was, elected, vice, president 2 should, be,
sent, to 3 was, made, to, do, the, dishes 4 was,
bought, for, my, mother 5 be, carried, out, by

1 elect9 2X0{2 Cecilg THZ 5t= £SE{0|E22
was elected FOf| HIZ SX2 H0{Ql HAIZ MH &

AE +FEE "ZSA + be v-ed.2 HEl=Z
I HESHN James H0l= HXIAF toS 20
directly HI2, 2%
3 > NGSAE +SHIZ HIE Te SHA 20{S toR8A

SHUE FUZ ot +SHT /IS5, 0]

M 0| SAIZ be v-ed,
2 DX SLS 02 20t XS HEHE MX[AL
O,

CHECK UP

1in 2issaidto 3 washing 4 It

1 Victore WAL A0 AZEQAUCE
be involved in: ~0| HE&(Ct
hit-and-run accident AL Al2
2 s U0l 15AI7HY RFISALS ST SHT,
~BIIE UBCFO £ZE 2HOZ Mt is said that +
=0 + Ak TLEO0ILE "0 + be said to-vy RS At
et



3 U4l HEXj= MEfE HR7t ULk
need + SEALE 52

4 JNse2 SELAEHIS B

st

Q|o|7t =EH=O] T,
‘People say that dogs are loyal.0l2h= 2% that
22 FOZ ot +SHE, FO M2 B8 71501 itS
2o

loyal Z422{2

A

1 peel / &2 222 25 (FHO|) & HAICE

2 blame / 2ot Lol T == Hi BrS 4= giCk
3 selling / 29| Af M2 SE|LEA T2 Uk

4 needs / L FHH[2I7F T SO 2|2 TRt QIC

1~4 > HEl= SSHOIXZ 39 0|7t U= SAS

hard-boiled (£Z0]) 2t=2 / sell like hotcakes 2E|
LAl a2t

1 composed, of 2 satisfied, with 3 surprised, at
4 filled, with 5 interested, in

1 YHE U 2202 0|20 QLY.
be composed of: ~22 FAE|C}
2 U= U X Aol 2rEsit,
be satisfied with: ~0f Zt=atct
3 52 O 28 7|Ch20f St ARMOl| S2EK| Q4L
be surprised at: ~0fl =2t
4 42 A7|Z2 It & UUC
be filled with: ~2Z 75 LK QUCH
5 Marye LOHe AFE HIRE 240 20| QT
be interested in: ~0f £0/7} ATt

C

1 is thought that he was the greatest authority on
ancient Egypt 2 is expected to improve over the
next few weeks 3 was believed to have taken a
bribe

0 1= i Tt A0S UL
1 = 00 O[ME gt 2110 HAXNRE A= HAZ
Ct.

authority HIAL FHE7}

2 fo= IR0 ZX EMF E0HE AC =z oeErt
3 O FRRI2 HEE LU A2 AR,
politician X2l / bribe =

13> 5X0I2 that®& #ote say, think, expect,
believe 52 SAtS &&= Mt is said[thought/
expected/believed] that + 0| + SAL E= "0
+ be said[thought/expected/believed] + to-v,
TEQE LB toRZAR] AIRZH FEQ| AMZT

&M M= "to have v-ed,Q AZHS 204

D

1 She was reported to have stolen information
2 It is believed that Sarah is
3 she is accustomed to the new procedures

1 > toREADIEEE AIF 01X Us LIEHHE R &=
EHAt to have stoleng KLt
2 > it0] AL 2 Mt is believed that + &0 + SALY| O
&2 JI50| itQ 2 AlXfote +SH LS MOF SiCt
agent /¢, Q¢

3 » be accustomed to: ~0f |=55tCt

WRITING PRACTICE

1is, selling, well 2 was, crowded, with 3 is, said,
have, gone, out 4 was, covered, with, snow
5 is, thought, that, cats, are

1 > sell2 YEl= SSOIXL H2CH| oju|2 39 °jo|
S LEfHict

2 » be crowded with: ~2 EH|Ct

3 > A A2 0lop|E ALt 0fe| LO2Z Mto have
v-ed, HEHZ LEHHCS,

4 be covered with: ~2 E0{ Tt

5 > 'People think that cats are harder to train than
dogs.2t= 2¥9 that¥g F0I2 ot +FHZ, F=2
that2s F= 21 BIX2|0f 71301 itS L0t
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LESH0IQt HFYSHOE Flot= SA & buy, make

AEIZJ T E s T 9| SAt= AP=HUE F0Z ot = %EH'; 7tsst

1® 2 ® happened ® was[got] fired 3@ 4®

5 was bought for 6@ 7 can 8@ 9®

10 J4= O doESX = =22t 11D 120

12@ 14 @ 15 could — was ableto 16 @, @

17 @ 18 ® 19 has, been, playing 20 ®

21 has served — (had) served 22 ®, @ 23 @

24® 25® 26 @ had ® was arrested

27 was made to

6 > People say that English is easy to learn.0| =&
Bi= HHE 2H2Z Mt is said that ~2| FEIZ A7}
that®2l F0i(English)E %9 F0|2 & H
to2HAL] HEfZ(English is said to be ~) & %= QUL

7 (A) T O AFEY & AL? L ZX| 20t
(B) U= W FOi MSHE M &,
(C) Jd= 225 =& 2= UK AIZH0] 2 gict.

1T A2 Us] B 2500 23 40| - )
2 ZHOIM can2 4% 2Z, 5171, 5HS LERHC

be known to: ~0i|7 L24X|C K
cf. be known as: ~2ZA LHX QJCt

5 8 @ I& ofot Y sax| ors Z{o|Ct.
be known for: ~2 Q&H3ICt E= A

@ Ui Mt £=E letste oF |k 71 /Ho|Ch
S =N '-kEf = Li80| S0{7t0F S22 must
notO| =0{0F Bt
cf. don't have to: ~& =7t Qict

Q@ iR &S0 20|, Fojl 7kMd= FLct,

@ 22l JA0| dxshXle 20| O WOh I3 HHE A

= A
7}'):' |-

2 A Jimol 8 7|20| O Z0f &0
B: RItZHE 223 301,
A B2 Q0| ALY
B: 1= KOl SO,
@ Aol &5t Us 21 UM happen AHSA0|2
=z happened ” 5= 710 Ltr|
® 17t ‘50 Gt 210122 LSE7t E0fof 3 may as well: ~af= 201 5 Ao
® T TRARL T U S S02T K| =r

F0{9] Zet HES LHEfL
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suite +SE=E **XI E’Jt r%AHZL
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® 1= OIS [ RS 20| YT JCh (A2 ZH)
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S LHE U7} o 282 OfZi=X| 225
@ MK 07| X2|7 ALQ? 10 At Lt 1‘|f f 5101 El% off.
: s O712 YoHESRE 22
® UEMS SNAE 4EOE ABETt B SIS IS KOS B2
-ed: (AO) ~3HSX|= 2L
@ SHAIT} 5P| Si0f SimelLIC may have v-ed: (Zt70f]) ~HSX| t
® 0] K= & e
. 11 » can't have v-ed: (Zt70ll) ~34S 2|7t SiCt
@ QIELI0| AFREE 20|22 4SE The Internet is ( ) ~AE *
used as ~7} =|0{0f BHCL,
12 A E B 9 4 87127
D 2E20|%. YO} LS
5 352 Lo 0] MY H0|2E AFCH B: BE0I%. 0K 2RHIHR?
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@ |7t THA| SHH 0[0F7[& EHRT} QILIR?
@ J= 230 2 =7t glct
@ 2= XZ GX Toll Z Zeot At
® J= Gilo| 32& eIt Le?
neede &3

SERME B YBISAIZ MOIC} need’t YtSA

15 U= 15I2EE gt 27|12t =3

16 @ He 77|0f et 7h= 20| o WL,
had better2| 282 had better not

@ JUi= 42 SO JEEs TS B0l #20 ST

A0 chst A5t =252 LEHHE 2 "must have v-ed,

O et =00k
® 0|2 =0|HU
19| X&E HES LEHH= used to
@ U7t =28 o J|HE|X] = 0|,
ZU-AZH EAROAE B AMIZH OIS oJ0f_tc.

® 1 2Rt B8 SUCD FHAC,

thatZ2l LiE0] 0]0] L5t AFHOIS 2 AIX| UX|2] 2
Alg MEL. FH9 IAEN O O™ Lot 25 L&

L7 2l that=oll ARZE L0
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18 Lt= LY ObEof ™ 20|,

ciiiRt== DIHE LiEHE & gl

19 O 25 OFHON| OFF1E SI7| AIRRICE OFAE Sil QUL
o
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— Ji 2= OFRH 0f S st U= SOIC:
DA AR SO SH0] AILE L /USS LE

L= SIAHR=TAHS 2O

20 @ A T WY 2513 T3,

B: O} L= 27t T2 H2f5H,

believes HEHSAIO|EZ MHSHO R MX| Oh=C},
@ A OJMIRHOf 2ff EtL?

B: OE|7} S YA LU,

haveZl ‘AlZte BUICHS| SO 2 MU AL ZIFHY It
@ A Xig #otl?

B: §17] 125 StE 1 O,

taste’/t ‘Ot 209l ko= MU
@ A 25 7|20] oful?

B: Lt#X] Q40F.

feelol 720 ~5ICFe] S0 2 MY AL THH Ths
® A0 =20 EXs

B: =0l 2771 42 S0[0F.

think7t T1245ITHe] L2 MU AL TIEH Jts

40
r
0
0

21 204 S9t 2= FHS AT SR P Mo I of
o

=
S 7} WK ZEE US AT XFL Z=O| Of
42 o 4 002 WHAK EE HHABS MOF B

22 ©® JHE ZF0AM 22 29| V|5 B AL

smello] "HME LCHel £O2 MU AL TIFlH Tt
@ L= SO &ofl = X0 A

hate= ZAHOZ £ 4 Q= SA
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OlCh SMS OfEH HmUo|H Al LS 20| wr
IOl CHSHA 57| AIRSICH LHs BLbm AIK| I 1
BIAM 9 T2 FT Y7t 0|20 1) RES WS Hop'atn
UL} SHRIPH T

7 MX| T T 2RE0 22
N LS 226 BHS ZORHD HHC,

get someone in trouble ~
OFFXICE, F3!CH / tell on ~

23

24 > @ ~5tX| LU0 HT
Q0|E LiEtd M=

Cefal po] ofl Chall =

should not have v-ed,2 £LCt.

=3lot=

[25-27] £ CHE HIZEH A7t T 2006E0] Dj=22
Z|Z O|Fall2 7IEUAM M7t LYACE ORIt OFS
oAl 2P LA BfCH2 oSS WA 23 FUCL LSO
A0l 11 AH9] Th2|0f Ho| SHRA= AS 21, EF
Off M3 T22fet ME2 1 7159 oI L2toM 5185

0|0l A= OFHRIZE MZERACY. 11 AH9| OHHX|Z}
SIS M, = 0EH A4S SE0H0F ShERIE 27|

Plolf SE 0 H7FoHOFZh UL,

similar RAFRH HIZB / punish & FOt/
acceptable S185= / arrest MIZSICH / release A
StCt, Z013Lt / attend H7ISHCH / proper ZZ 5

2 =2t X0| oY 471 11F9) ot ARHof 2ot A
L}, another similar case2t:l dt= ZQ 2 HOt, 0]
ol 23t Xf0|Z Q15 OFIXte] DES HoiF&= Ot
ol CHall OjoF IS S & 4= UL
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ZHEL} 0|35 Z10] HA] Lo 20|
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1 9 BAZE 20| = toF A

CHECK UP

1 not to wear 2 to oppose 3 To do exercise
4 go to bed

1 g
to ‘:'I*MQI

g AG0A 7 HIXIE 2A| (e A2 fIEete?

232 to °*0ﬂ notg 204 '-Hif'r_lif.

beEA b ol E01 qets 3L to‘jxﬂm 2L0F St

oppose ZIH5tCt / policy EA

4 U7t ste A OX EX2|0 S5 ZEolct,
"What ~ doy, All ~ do,X& beSAle 0 28
do7} AUS M= EoZ MOl toRHA0N toS M2}

o
4 ol

A

1 to cross / 0| 2 not to eat / Z04
3tofind / 2 20 4 to go /=X

1 L= 28 4= 20| Qs 426,
it that&e| 7}50, to cross 0[5t= X
2 MAEREES 9X| Q17|12 0f OECh
toFFAL 22l not to eatd| F0{ It
3 U 422 oS0 SiHe = Aol
AL beSAS 20{ <5t
4 Lxe IRl Zdsh|= Rk
0

SHAE decided =

B!

1 It was hard not to laugh at his jokes.

2 My sister's ambition is to become a model.
3 What you should do is (to) apologize to her.
4 It is important to listen carefully to others.
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FOE MOl toB™-APE 2O FH=Z2 HLT, 1 Xf2(0f
71301 ItS 2 20|t
2 W H3de 58 20| H= A0l
SEHATL HOZ MO EXO|CE
ambition 0fY, L&
3 Ul7f ohof & U2 TJH0IAH At

o
_O'L
rir
N
S
n

"What ~ doy, "All ~ do,7t
MO| toHHALO|A toS %F%E* 2= Qltt
4 ol LS Fo Y| EE= U2 F5IT

It2 7101, toRFAL O[ol7F TIF01Q1 EFOILt,

C

1 to, help 2 not, to, eat 3 To, criticize 4 to, meet

1T M7t AESME AR OlRE =20] 2Ret AIdEE &

7| AL,
beZAt FOll 20{7} HQSIS 2 toRHAIS 20t

2 Lo HO|ME 2] & SiLt= ebHH0| LT 20| HX| &

=

beSAt F0il 20{7t BRSI22 toRYAS 220,
3 HESPIE U (HE ) Y5317 1= O,

o 2N F0{7F BROIE2 toRPYAE 20

o
4 2= SO UL UKL, 27F LR | FASHHRE

agree?| =H0{7} Qo2 2 toRFAIS 2L

D

1 to ride a motorcycle without a helmet
2 useful to make a list before you make a big
decision 3 lonely to live by yourself

1 Ul 9o glo| 81012 BT I st
— Y3 glo| LEHIO0IS Er A2 ABBICL
2 UE 2 Z%S Ul Mo S22 SAI IHS 28
Sict
— 2 7S 2P| X0l 223 Hsts 22 R8I,
3 L EXt AT 2 ABK| L2
— BXt A= 22 Q8K L2

1~3 > Tltis + AL + to-v, 7 20ILCE

WRITING PRACTICE

1 It's hard to believe (that) he cheated on the test.
2 It was cheaper to buy vegetables than meat.

3 It's wrong not to admit your mistakes.

4 It isn't necessary to have a visa to visit Japan.

1~4 > It2 71501, toF AL 0ol R0l 28

20 BAAE 0] = toR A I

CHECK UP

1 to read 2 me to have 3 what to do
4 it very difficult

1 L= L3024 oF #4972 A<
plan?| SX0Z toRHAE & f

2 U 2HE2 Lol Z2|ADA MEIS So{Fatn SERIC
ask + 80| + to-v: ~OA & HS 26Tt

3 S0 0| LM 23S 5{0F Sh=X| Okl
what to-v: A ~alloF EX| (S0 AF)

4 Lk= 0] OF20IM E2 AlEe 2o |71 T2 ot =

ZiCt,

FSAfind) + it + ESAHAM] + to-vs HEfQ FROZ
Zt=X0] it2 FEAL A0Il AOF BHC

w

A

1 to help 2 to pick up 3 not to be late

0 Sam: 22| AL SEIN?
Lisa: I ERC.
— 52 HLE0| S27|2 HIC
1 Jack: ® & Zot5ARIQ?
Jane: 8%,
— Jd= JE == ol 23
2 Qob 4l k2 ezt
Ben: LA0IL.
— J4d= 07 R Helotata 23
3 Laura: =A| O}

Peter: 247 0Of. 2 =871
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— Ol 20 SX| Lakn Zogct
1-3 > toRHANS ELSAL HOIA 2X0{2 M0|74Lt 2X0f
S0l 22 20{Z MOICY,

1 how to operate 2 what to eat 3 when to call
4 who to invite

0 oilojzis ofCiofl Mx|sHoF K| Zah F.
where to-v: O{CI0IA] ~&X]
1 0l 7IAE ZSste Ee & +7t Qltt.
how to-v: 0{ZA ~&X|
figure out YOIt / operate ZfS5tCt
2 THCoE Rog HEX| HIM?
what to-v: 2Ag ~&X|
3 U= OIH| ChA| MEFRER] L2dX] UL
when to-v: 21H| ~aHof &X|
4 Lk TME0| 75 =HEX| D200

who(m) to-v: =75 ~&X|

C

1 sharing — to share 2 O 2 buy — to buy

i

= 2 o) Eoit

D ~Bte 20| -3t 22 W &
Ct

3 T7h O IR B SIXIE A 2T AL
toREAL 0 BLIRHE SHAOR = 'SMllexpect) +

=X0] + to-v; F=E0|C.

D

1 me to pick up the kids from school
2 me to study computer programming
3 me not to eat salty food

0 0K Lol S| K S0 2stir
— Bt Ut S R 2 Sffoh,

1 UtololSS SmolA HRes 212 WK UES S,
— Lo} O0IS 2 SIOIA H2RE S 47INPAA.

2 AMEe Ut ZFE DRIUS R0 ST Uy
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— MAE2 Wt HRE T2 S SEOIEE 2ol

t.
3 QM= WIH R SAIS HOH oF FLt YUY
— OAHE LA W SAlE HX| LRt ZISHCE
13 > "SAL+ FHO + to-vy 7=20ICf

WRITING PRACTICE

1 tell, you, where, to, go

2 it, difficult, to, persuade, him, to
3 you, to, help, me

4 when, to, quit, my, job

where to-v: 0{C|2 ~a{0f EX|

2 > find it + E2A + to-v, HEHQ 22

3 > toREAN A0l ARAKE SHACR &5 2 "FA+ F
HO| + to-vs T2

4 > when to-v: 21X| ~5H0F &X|

2 HEAT A0|= toRHAL

CHECK UP

1 to talk with 2 to predict 3 was never to see
4 to have crashed
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52
1
Ju

=
S
2 DlaHE O;le‘—al,l— I‘HOI =

ZEX0{(the future)S

3 Juliet2 RomeoS CHA|
RS 90J5H= be to-v; LR0ICt
4 O HJI = 7IERE ZHM0IA FHE Ao 2 =QICt

2012l The aircrafte] MEHE M&dts toRHALOICE

A

1 the first man to walk on the Moon



2 someone to go to the party with
3 the best time to go hiking

0 Lk HoiA Zoi = MO|Us 0[0p7|7F QI
1 J= g s 22 & ¢ ARoIQICE
to walk 0[517} the first mang =4
2 O= TEo| &M Z 271t Zastot,
to go 0I5}t someoneg =4
3 22 Sieof 71 £2 molct,

to go hiking0l the best timeg =4

1 are to succeed 2 were to wait 3 is to turn
4 were to lose

ElSH

on

0 Patrick2 WY 2|9|S o LES FH|aH0F
organize &HISICt / presentation H
HIZH 2OIM -GS0k, o 25| =43H0F St
2 52 oW M0 S0P | T g AlZtE 71CH0f

3 22 OXI= WA 01| 60M7H 2 7*0IEt
a

10O 2live — live in 3 making — to make 4 O
5do—todo

1 0] 22 A0 58 =/0{0F 2T,
Y- 92 S UEUE be to-v

2 Rachel, MZ & OITIES 73LI?
‘live in a new apartment’0lA SAFT live in0] toF
BATR M

3 XSO M2 AlZrg 7H ZEst Moot
SHAZE 2l BALT the most appropriate time

A
_I_};!

o g

appropriate Mgt
4 2= BREE 2 7SI E
to fix 0[5t7t a techniciang +4
technician 7|&Xt
5 Joe= LHE & O] SUWY| WEOMl, EAZ|0 5712 FiCt.

to do?t anything elseS 4]

D

1 looking for an assistant to help with his research
2 was never to return home again 3 is the best
way to relieve stress 4 is to be hosted at the
Windsor Hotel 5 forgot about his promise to go

shopping

1 OE AP| 978 =248 245 7512 Tt
=

2 e CHE Eez =012 4 ¢l A
2HE LIEHE be to-v0IAl never= to 01 EQICH
3 AEYAES 2AsiE 4 Qs THE £2 WY RN
to relieve 0517} the best wayS =41
A2 AXSHUA S ofFolCt.
2 LEHE be to-vy FR2Z, 0|1 toFHA|
SEHiE "to be v-ed, HE{Z LIEFHC
5 Darren2 &H5t2] 7IXtD 8t XP7| AAHS QUOHRICE

to go shopping0l his promiseE 4|

El

I
I
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i
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4

WRITING PRACTICE

1 have, nothing, to, teach 2 is, to, be, held
3 to, write, with 4 proved, to, be, a, lie
5 enough, time, to, answer

to teach?t nothings 4

o1ES LE= e to-v

to write with7t 2] a pencilg =4

SAt prove2t B7H X0 toRHAPE FOHE ME

to answer 0[5t7} enough timeg 4]

O b ON -

22 HARE M0|= toBHA} |

CHECK UP

1 soasnotto 2 onlytofind 3 To tell the truth
4 in order to

1 Bill2E=

0 as to2 £ so as not to

20l =X| 7] ?loh M=RILt.
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2 L= zH2 u=2y
b=
only to-v: 5tX|2t Z= ~5ICt (2
3 AMAHE DSl Lis JE7t 24
to tell the truth: AFETHZ &
cf. not to mention: ~2 Y& A= 0|
4 Jack2 O £2 o4 |

o
=
~3}7] SIsiM Bt SRS LiEr f

—1
S
o
=
Q.
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=
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o
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£ so that ~ can[could].2 &
make an impression @14

A

1 | sat in a window seat so that | could see the
landscape. 2 The woman interpreted for me so
that | could understand the speech. 3 Please be
on time so that we can depart before the weather
gets bad.

0 JlfE YL I YIRS EPIS R,
— L= JIRE EP| oM 230

1 U 1 Kol e, e E3s
— Lt 228 w7 9ioh 7t K200 $UTE

2 7 OIRHE Lol S9I2 off FCL IfE Ut 1 i8S
O|alioH |E &iCt
— 71 ORF= U7} 1 B18E Of3lE 4 IS Lol 5

ﬂIIO 4
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2 off T
interpret S%oiCt
3 ARZESEH M2, REl= ENTF LHKZ| Ho| 26 IE
s,
— M7} LIR7| 0| S = ARS AZE I 24
o

I,

depart EY35tCt

1 to, find 2 only, to, fail 3 never, to, return
4 To, see, him

T L= SAGHA LHZE AZI01A 3 ARl g 2| &
ALt
ZIHE UEIE toRTA
2 O OftE AR Z7HieU 2okl 23,
only to-v: StX|2F Z=t ~5iCt (Zat)
compete ZYotC, EXoHC
3 O w85 HUM TAls S0t A
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Z1E LHEUE toRIAMOIH to §0i| neverE L.
4 O AE 29 U 7t dARtE 2 20 EA 28 40|
Ct.

TP (fES ChAlSH RS LIEFS toS RA}F

C

1 to make matters worse 2 not to mention
3 Strange to say

1 U
to make matters worse: AA7IMOZ

2 Jane2 G0l= 2E Ak ol 0% & & QICt
not to mention: ~2 L& A= 10|

3 O[St O[OF7IX[2H OFRE T 27HE 21 & X0| it

rir
Jon

HEs ESERUL 247He 2 A UOHR

r2

strange to say: 042t O|0F7|X|

in person 21, 34

D

1 find — to find 2 in order — (in order) to 3 O
40

1 Lk= ZHOILEM O4F5| OfEChe Zig 27l =QUC
Ants LEHHE toR ™A

2 Anne® OJgAZA E0|7| 2lah X|OtE
in order to-v: ~at7| 2lalf (in orde

feminine 0{4A22

3 Oliver= 2015 HIR7| 2IaiA HIOIZ0l ZiCh
SEXg LEHE toR ™A

4 79 54218 ECH He 17t 42k 42k Z0|Ch

7PER9l ifHS thAlsH R4S LEHH= toREA

Ct.

ol
=i
re M2 7hs)

voice actor <

WRITING PRACTICE

1 walk, fast, to 2 To, put, it, simply
3 grew, up, to, become 4 in, order, to, get, warm
5 s0, as, to, impress

1 SHE UEHHE toR YA

keep up with ~0fl FIX|X| 0}, BAS S50}
2 to put it simply: ZHEAS| ZSHRHA
3 ZIE UEUE toR AL

4~5 > Tin order to-v,2t "so as to-u2 SES LIEHH



R
Z0{2l the downtown area= toF ™ALL QO|4 25
HALg{2d 20| = H 24
23 FAAE £0]= toF OAI- I 0 92 SIE 2 reach FIZ 2D FO0| 71501 itS
ME 2HOZ HEE 4 UL,

3 O] === 0f0|S0| ISP 7|9l HT S,

5o + SHEAM[EAH + that ~ can't[couldn't], +22

CHECK UP "t00 + HBMRAN + to-vs TROR HHY 2 4 Irt
4 Yl Yoo ZER| ZShAT DjRtah,
1 happy to join 2 of Jim 3 was hesitant to that&lS 095 ZHo| OIS LIEILD 2 rZH S8 At

4 too small, to sit 5 strong enough +to-vs SENZ HIY 2 & QICH BEAT} ZI2I71= AJE

1 XNe 0] Eoj| E126p o M2 7Lt O|Z0f| oit LS LIEILHOF StE 2 A2 HAHto have
LS UEIS B8AF FI0) 2 toREANE 20 v-ediE £0.
912 LiEfCt

2 oA TS LBICH] Jime ST B
toSU AL QOfl ARZIO| CHEH BHEHS LIEHHS SR2A} 2

ot 1 ki : .
I to= AR SIO[Af ZOf of + B0 LIEH kind of you to give me a ride

2 careless of her to leave her bag

ot
) 3 was delighted to hear
3 Veral J0I HO|ES Hat= S Zxjait e toghel b i e
|
"be hesitant to-vs ~3H= 212 FXBICaHs o0z, yrohelp !

) 5 is certain to be rich
Ol toRHAIE AL HOIA ~a17|0f, ~ot= Hl'2ts

KOZ YEME FAI 1 NE ZETA] BRIFAICL] ISR,
hesitation Y& kind= AFZHO| CHSH TEHS LIEI = JEA0[EE to
4 0| EXts 22 257t S27(0] UF &t HMALQ| o0|A =02 Tof + 2MA,S 2L}
too + HEAEA + to-v: UF ~SHA & & gl give ~ a ride ~5 EfQIFCH
o110 I-1T ~5t 2 SAMO 7HE F11 QUi Jl4E HRoRCY
5 1= 9012 S02E UZ 2ol Mtk careless= AIZOI| CHEH TS LIEH = S8A0|22
%%MEH + enough to-v: ~& 25 &t tOE AL O|OjAf FOIZ Tof + 27,2 AL
careless =AY gl=
A 3 Ut HESie ge S0 710,
Z™E LE = F8AF FloIA toR-ANE ~aliM 2=
1 is likely to continue for three more days =oz 7pKo| oIS LIERHCE
2 impossible to reach the downtown area in an 4 T A0S HX0| s IS T2 ZH|F H0f Y
hour ot
3 too busy for children to cross safely be ready to-v: ~&t ZH|7} Elof QUck
4 to have missed your birthday party in need oS0l X3t
0 27t 3221 AAZ B0 of2IA9ITH 5 Barbaras W Q45| YsiCh 4= SESI0| 2Xpt E
AR TSt TERS LIERHS BRA + to-v,e| Oj0j4t ol
0|2 Tof + 2HZ,S M HO ONjA F0jE Foj2 be certain(likely] to-v: 45| ~5ct
St= 2HRE HHE O'Ef.
1 E32 A= 907t 38 4 ASE A 2o C
"It is likely[certain] that ~/2 that"*gl F0E 22

OIS HIF &  QITH O[T thate] EAL ok 1 O 2 winning — to win 3 tired too to play — too

HAZ HHRCE tired to play 4 enough old — old enough

stormy 5322 1 49| 7120] OHRIXIE Of= A= &ALt

35



74301 1t0] ZIF0121 to R HALE CiAISH= F20]Ct,

2 HS2 MM S2I5P |2 27 O3S HEo|Tt,
be determined to-v: ~o17|2 2A O-SHCH

3 UHe 4R o6 20AM 2t HUAS & 2 A 20
too + HEAEA + to-v: UF ~ehM & & gli=

S| R ~5t

4 U g3Me E2TAE E UE LIOI7H SX] LUCE

SAR MOJ= enoughies HIEA| toRHAL &, HEAE

A FIOfl 2F0F B,

el
-

D

1 | arrived too late to catch the train.

2 He was too busy to attend his daughter's
graduation.

3 Mike was strong enough to carry the box.

1 UE U2 s S 71RS ER R
2 3 U2 uiwy Do) SN0 AR R
3 Mikes 1 4%E LIS 4+ U8 012 80| 4iCt,
1-3 > U ~3A B 4 QICF2HE £8 LER Ti= oo +

HEBARA] + to-v, FES, ~F 2F F&5| 80|
Lt =2 +

WRITING PRACTICE

1 is hard to read

2 is too inexperienced to lead
3 is tall enough to reach

4 was brave to try

1 > slolels S8 HEAIS $AlShs toRHAIS 201,
handwriting ZMIA|

2 > too + HEAEAN + to-v: U ~8iA & 4 gl
inexperienced &0| £&3

3 > HEMEAM] + enough to-v: ~& HE2 -5t

4 > ARl THSH HILE LEHHE= S8At + to-v: ~oiTiL

@—

36  G-ZONE WORKBOOK

2 4 BAto| o|O|4F 20- AlA|

CHECK UP

1 her boyfriend not to smoke 2 for freshmen
3 of you 4 to be on holiday

—

Jane& GXIEIOIA EHHIE LIRX| Y2t L3HCE
toR AL A2 ZX07F 2 20|14 F0{Q1 BLO0lCH,
Lee BIAFES ZAZ MUMES0] OlsHsts|of OfRL
A0 CHSH HEHE LELEE H8AE 45k
Helstie toRAte] oOjd 0l for + 2HA,
2 LIEHAC
3 Ul 7HEE SOOI A & AR
considerateZt AFZ0]| CHSH TS LIEHHE FEALO|
02 of + 3XZ{,02 0|4 F0{E LIEHHCE
considerate Atg| Z2
4 Kareng {7t 321 4 &L
~0l A ZLCHE S92 "seem to-viS 220t seem FHOf
thatEg £ M= 7150 it AEaliAl It seems that
Karen is on holiday.2 L},

N

2 the students 3 me 4 her friend 5 you

i
ra
ajo
1=
mjo
I
2
12
~
Hu
my
0>
3o
iul

N
=
— 0OC
= o
J
0

w
r

S
[
i ;g rr oz 1r

o
o
Borr

EIFLOIA RHHO] F7F 7t s St HOKKIE Skt
SEIC

| Ol0F7|E [rh 77|01§EH—| FaotL,
FOL =Xt UX[ok=

2t0
HAte| ool
2 ALK Lo_cr

(3]
0o
i

>~

1~5

o

1 is necessary (for people) to read books
2 was kind of Greg to help

3 is normal for men to watch

4 was very generous of you to lend



0 U= A4 S Lofdtt,
— L= A% S| LojLiCh Ao 2L,

remodel 7§ =5tCt
3 HXNE2 TVOAM AXXE 20| 201,

— HAS0| TVOIM ARXS O] 2= A2 2Ll 2

olct.
4 e 0] £8 Lo WL
— 0] £2 Lo W2FCIL | & 0140] S,

A

1-4 > toSEALR ooy F0l= Ol for + SXAS M

gh ARHOl THEH WIHE UEf= &AL FloME Tof

+ 2 S MO}

Ealm i N1

C

1 O 2 for him — him 3 for him — of him 4 of you

— for you

2 O A2 101|71| 7r+om ”*Erﬂ 203t
=X0{7F 2 toRFATY QOjd 02l 2Fo|E =2
for him& hime& 1x0f &Ct.

3 T RXIGH BSSITHH = o2 AUt

foolish7H Ar2t0l CHEr HIHE LEH= #EA0IER to

actol ool =012 Tof + 552, £rt.

childish 0120 22, KI5

4 142 ORR0| AEHA BAUS Ui - UL A

=4t
ARIO| CHEE TEHS LIEHHS HRALS 2Al5t

3
HQIstl= toRHALR] 2Ol 0= for + SXA,

2 L{EtHCY,

D

1 Kathy understood the problem

2 to have developed a similar style

3 Justin had been given incorrect information
4 to have been careless in preparing for his test

0 Maxe d=al 2210t

fEf'-”Ef
2 IS2 Hixeh UAls Tt A 2oL
that=2l AlMIZt 2| AHEC AN E 2Z LA

(to have developed)2 HIY MOF BHCY.
3 Justin2 FRE F2E TS A LAULCL

- 22X

I'

ZH0| HHAIXO|IEZ thatE2 JECH oM HIEAS M
Of ot 4=SE{0|2 2 "had been v-ed, SEH7t LT
incorrect 2825t 2
4 = Nge FHlsk= Ol J0IM AESHR| 23H 2 2Tt
that&o| AIKIZt FHO| AINECH AMD 2 AREHAL
(to have been)Z HHH MOF 3t}

il

WRITING PRACTICE

1 kind, of, him, to, help
2 appeared, to, have, hurt
3 seems, to, have, lost
4 told, me, not, to, waste

1 kind= ARZHO|| CHEF TEHS LIEH{ D2 o|0jAt =02
of + 2X2{,02 LIEHACY

2 > FHo| WM K(appeared)ELt 019 Yg LIEHHE
2 ASHFPMNE 20

3 » 2017} Anne0|2& seems CH20]| thatde € 4 9l
EHALE MOF SHTE OfF| XIS 2 E
AHOl seemsELE 0|M2 US LIEHHEZ 2t

£ 0

4 > tell + 5X0f + to-v: ~OI7| --5l2fil Lsict

25 e

CHECK UP

1 enter 2 put 3 look 4 repaired 5 to open

1 L= 5=27PHE0 S02= 2215 SUH.
AUSAE SHA BUZ HHRYAILL SIMEAE FRICE
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scale X2

3 Kate X2 JHE MAECH LI0| S0 £O|A SiCt.
make, let, have Z2 AlGSAtE S8 202 88

4 Sue._ 0111| XVI
SO 252 Ho{/t —’F%QI 2AY M=
KI2|0ll HHARALS MOF BT

5 Qoh= oA 28 F2f A7 N
get2 SH0Lt SHH HHE e o ~0A -5tz
§ M7ICt2hs 7HHR KIAIQ] QJOjOX|2F CHE AFASA
o H| S84 HOZ toRYAE £L0h

B MBS 42| LA

257 0]

—

hit[hitting] 2 do 2 to water 4 laugh 5 to take

1 O 'PHAIe] S8 Rl U L
X|ZtsAte BX0f somethingO| hite FX0|22 =X
2 202 AHBHAE 2O TS| =2 25| Lal

o
g OI|:|-_
[BIGICH SIAIBIA L7 2HsHs 2

3
mo
Qb

_O'ﬂ
% 0
il

& .
AASA let2 X2 20i2 AHEHAIS FHTH,

3 Opth= 2= OFY LA FEo 28 2 A7 IS0,
7IHI2 XIS HEUE get2 S84 202 toRZA

ol

warn2 %@‘7—1 E(HE toRZAIE Fot=

1 dream 2 cut 3 talk[talking] 4 share 5 to lose
6 sign[signing]

1 0| gat= 7 87t He A2 E—"Pﬂ gict,
MIZA makes 2XA HO{2

2 L= oM W D25 Z3RT
SH0{(my hainet SXA 20{7t £59] gAY W= =
KA 20| M2(0f BAZAIES 2L

3 L OS0] AHES siashs Aol &l 2dte A 2

5| SU.

overhear= X|IZSAI0IE 2 SXA HO|Z AFHLHAL
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5

E= SMEME Fet

o

overhear 2¢13| ELt / lay off {15t
He= 02 7 S0 W MEIRIS LIEEA.
AASA let2 552 2012 AHFHAIS FFHTH,
1 o2 147t 3t L 0]dE @l

S=Z =e2fotth= make

olI

cause + S0 + to-v: ~Jf -
+ S0 + HARFA
lose one’s temper 25 LT S&6tC
U= 20l BrianO| 2 MF 0 Mmﬁff Ag BULY
XZSA see= SHA 202

[ R e |
t.

mlm
r9£

3

C

1

1O 2drive —todrive 30O 4 fix — fixed
5 to cry — cry

1 AR R7F SAN? off LH7F EA| FX]| Y= AY?
MNAZEA et X7 HOZ LSHERAIS Z[5HCH,

= = oT o [

Jerry= GIAIZISF SEHA| I8 B/IFES SO
get2 7HHZ XIAIS LEME O, THE MASARt 22 =
HA HHZ toRYME 20
0| 285 Z2IH2 IS EEcMolell =82 & A
i3
help= SX54 HO|Z FHLHAIR toBFAL & O FE
= ULt

strengthen Z&AI7|CH

L= X401 LH XIS 4=2I3HC
SEX0i(my canet FEZ HOoPt 5 HHOEE S5
HOZ IARALS MOF BiCE

LHZF QIEHIOIA HUE AME LIE 271 DrSUCE
MASA makel SN HH{Z= FEEYAIS L

D

1

2

1 ask 2 operated 3 laughing

A: Noah= Of%lL?
B: Lt= J7h MdE0 ZEHE HEX| 22 2 S0
XZtsAkheard) + 5501 + 552 20i(ask)
Al U7 RS 28 0] EQU| 7|2 AL?
B: OtLF, O EQQ0|0k
A9 sAthaving) + S50 + =542 20{(operated

on)

|-Q;‘<

A O D20 2047 1 AR A2 HRIA0L.
B: . 19 sEO| 3A A2l K| %S £+ AN



hilarious 0tF A2 / laugh out loud & A22
ULt
can't help v-ing(= cannot (help) but + H2HAL):

~otA| S4E 4 QlCt

WRITING PRACTICE

1 saw, her, dance[dancing]

2 Are, going, to, have, painted
3 felt, turnfturning], red

4 do, nothing, worry, about, me
5 Help, protect, environment

1 > XUSA sees S8 B02 AHEZHALL SFHBAIE
20

2 EI10-|9|- EI‘|74 E(Hjl— N0

2|0l HARAS 2L

3 > feel2 XIUSAOIZE SXZ HOZ AH2 AL S
2AE 2L

4 > do nothing but + 2SS FAL TX| ~517|2t StC

5 b helpe SHA 2012 FFLIAML} toRHAL & O FE
= UL,

0

BAo|22 2R Ho

2 6 2HF 0| toH YA 12

CHECK UP

seem to 2 to be 3 advised 4 are not allowed

—

1 JUs o o[ #=atx| B2 e BoIC,

seem to-v: ~X& 20|t} / happen to-v: 5| ~5t

Ct
2 1 Yste Oierst 4301 4o YT
prove to-v: ~2 HHE|C

3 Alice= LIOIIZ| T2t AFHX| 22t S0,
Holl SHH me/t LHR2E2 SSE2 MOF BTt

go out with ~2+ ApCt
HUSE U2 A0IM HEIE TR= 20| HBEHX| U=C
allows =X{0{2} X2 20{S 8510 ~7} --5t=
£ ol8aiiete SO MOILE allow FHOl X047t §f

I
bl

.
A

s

1tryto 2tendsto 3 failedto 4 managed to

1 a WA & 2 OA] AXIZSH oK) O,
b. JH7F Aftst ts(st 1= RHL?
apologize AHKSICE / make up for ~S L&3HCHE
3|5t
2 a. M EXM7H4YH ZEA0] H7|7] OrHE0|C
b. 20i= TOELH & O ZHAIXQl #5H0] QlCt,
jealousy HE(&]), A7|
3 a. L= I AZ0M X2|E S 4= QUUTE AR & T

b. Thomase £%1&

23
get a promotion SZISHF
4 a Ui oM 22 AE B2 4 Us TS 28 2o
= AL
b. HIZ ZM7t EX| LUXIT T HIF|= QHaHH S
- AL
land EZ35tCt

1~4 > try to-v ~ot2{1l =25} / tend to-v ~ot= &0
Lt / fail to-v ~5IX| 25ICt / manage to-v (HZ
HE #HM) ~2 SHUiCt

1 was allowed to 2 require, to 3 was told to
4 was expected to 5 encouraged, to

1 Bobby= 01X OIHIX| A2 Mz ECte S2E Bet
ct.
Tallow + S0 + to-v, FRUM SHHE F0Z ot=
SEY7F 5 "be allowed to-w,7t EIC
2 QF W2 S0 A% SIS FOE AR Zg 2F
C
require + SX{0] + to-v: ~0II7 & A2 Q7S
3 Russell2 ¢z0f 0|2& T2t 1Es5|l2l= 2e SACL
be told to-v: ~sl2te LS ECt
4 1 3AE SEE ZOZ J|HEACU, 2563 AY 7R2E
ALt
be expected to-v: ~8t 2= 7|CH[0l| 4] =ICt
5 U7t 02 M, Emmall £2= JHA 21t QAL
o2 Z2ahct
BIZE FHol SX0| hert A2 SSEIZ MOk FHCL

‘encourage + S0 + to-v,i= ~7t --St=E A5t

ro

il
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[E2stotel ejojojct.
surgeon 2|1t oAt

C

1 O 2 understanding — to understand 3 O
4 let — to let 5 forced to — was forced to

1 =A 19 F=AT} HX| ofY?
happen to-v: (AZ20IA) A ~5t=7t?
2 Doyle2 &g 0lalist= 2xE 2oICt,
~ot A 20, ~XE 20|tk 2t= SEC 2 appear THSO
to$’é§)\t§ MOF BT
2 A2Z 7|t ACL
Z01Q1 SamO| 7|Ch=l=" CHA0|2 2 =FEE 20
4 1 SME2 QMO SHE D2t 2MFUC
~OfIA| --5t2I] QMG =02 Task + BE0] +
to-w,E 2Lt
doorman QtLiR, X|7| / let ~ in ~& S0

7] 2ol 2= O 2= Q0| 249 HEsss E

1 | managed to find standing room
2 Passengers are not permitted to use cell phones
3 persuaded Penny to go to Bali

1 > manage to-v: (HEHE A (Z=) ~S ST
standing room 4
2 > passengers’} 5122 = 20|22 "be permitted
to-vi2t 20| »SEHZ MOF S5t SSEHIA permits
FHZ HOZ toRYAIS HIShE SAOI,

passenger 52 / on board HA[HH, HIZ7(] Lo

M
30 ~OA -5l R HSSitetE SR persuade + 5
X0 + to-v,5 &0k

WRITING PRACTICE

1 tends to exaggerate
2 enabled me to study
3 were advised not to carry

40 G-ZONE WORKBOOK

4 caused all the flights to be
5 urged the government to reinvestigate

1 > tend to-v: ~ot= Z&H0| QUCt
exaggerate W& SIC
2 > enable + 8&0 + to-v: ~7t & 4= UA siCH
scholarship Z&t3
3 > Z0{2l The tourists7t 15 E2 Z0|22 +SHZ M
Of BHf. B780| Q00|22 toR ™AL
4 > cause + FXO| + to-v: ~J} - SIE= iEH_fEf
5 » urge + FH0] + to-v: ~0iIA -5tk
reinvestigate MZASICH

J
-
_o'g

27 SaAfe| JHig W ot

CHECK UP
1 auditioning 2 Eating 3 writing 4 not getting
P

1 JUE I 90 2Uis 2= As 23 ZII6H| g5 X0
tt.

2 342 Hgs| ':'—.*E Zd% oS = HY s% Y S otLt
Ji=s
SAZE 0 JE o U= toH STAZ BHY 220
3 L= A4S M 0 012 240] Tt
HXIA TS0 SHHZ STASE MOF BTt
4 L= O 23 oL b= A S0
SO BE2 STALHIZ 0|l nots =04 LIEHHLE

A

1 Eating 2 helping 3 going 4 making 5 Learning

1 715 842 UR ROl 9 A2 o8 ¢ St
SME F0= 2 U= STAZ HHY 20
greasy /IE%
2 o= MEEE 5 A2 M0 RS Loj2k H2tst
Ct.



thinkQ] 2X{Z MO| THALE OLO|A] Z=HZ MOI STA} — Sam2 LESS YILEl Zig HoIiCt,

3 RE= FIIE TZA0| Zh= 20l CHoH O[0F7 KL, 1-3 > SX0Z M SFA
HXIAF about] SEOZ MOl SHAL
4 Bartz 5 XXIE A0 CHal ARLFSHCE D
HX|Ab for9| E2HHZ MOl SHAL
5 AIZIS Bajsts 9IS HIQE Z4S ohrlo] Haloo = 1 helping people in need 2 Having a pet
SICt, 3 Designing security systems 4 winning the
FO|Z MO EAL championship 5 hurting her feelings

1 U Ofeo) MEt MUSE SE X8 URK| 22 2ol
B S 0|2 MOl SHA

2 HASES 7IRs A2 TP E= + AU

1 worth risking 2 looking forward to going

3 enjoys buying 4 good at mimicking 5 insists on
3 HOFAARLS MASh= 20| 19| = MEALCY,

taking
FOE MO SHA}
1 BYo Eg FEME A2 7EXI7t glLt 4 227t M43 UM 258 7HsH0] 26t
not worth 59| #2X HEH2 Mt ~ v-ing, YEIZ X5 HXIALS] SHUZ MOl SHA
Mmolct 5 IO&= 49 AX¥s Ho &7t B A-ARRICE
risk ~o| QIS FEMLt TXIALS] SR Z M01 SHA}
2 Li= o =20 QEEIE 2 7P7IZ D5k A0, OH
0| XMS0|HE.
HX[AHto) IS0l SAL & e SHALS MOF BT WRITING PRACTICE
look forward to v-ing ~ot= ZiS CHoHCt
3 Jeannet 220I0|M S71S At= A4S ZO0fl J2X| & 1 tired, of, hearing
LJ? 2 unifying, the, two, Koreas
enjoy= SHAIS SHOZ FI5Hs SAO|CH 3 started, working, out
4 U ZIRES Wt MMHo 4215 EL U 2 BY & 4 Baking, bread
BT ict _ ]
; ) 1 ~ote O Z2|CHE SSote be tired of 2, MXIAL of T
HX[AHat) CHSOl SAPE 2 M= SYALS MOF SHTH )
_ S0= SYAIS MOF SiC,
be good at ~0il S%35tCt / mimic S LHCH _ , oisto =
2 ~otE Z0|2He SO 2 beSAte B H3ts ot 5Y
5 Ui Ot sHRl0M F7HE 2K 2710} R
HX[AHon) CHE0l SAPL 2 e SZAHS MOF SHCt - -
o R unify St
insist on ~& LIESICE ) e -
3 ~ote AW Ol2te SR 2 SAY SN0 dEE ot 58
AME AHOF SHC,
c 4 > ~ohs Wol2ts o2 22X F0| JEg ot SFA

1 going to the movies 2 driving too fast
3 breaking the laptop

1 Jack: 22 & &7 Jill: 22| Fst 22 74At
— Jill2 Fat =2f ZERfT MK,

2 Ann: Gt 2HS UF 2RI, Dan: 0| SOt O]
2rofi.
— Dan2 282 HF ¥2ie A4S Qg

3 Lily: 47t LESS Y7HEZOL. Sam: OFLE, LHZF F TI3Y
ol
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2 8 S2IAf0] ou|4f 0] Al
256

CHECK UP

1 his telling 2 having been 3 having been
insulted 4 him

1 W=zt aolop|E
recall v-ing: ~& 7|stCt
SHAY] QY FOjE HAHOZ A

2 L|Iy— a EH2|01|A1 —rﬁé._f Ae EHCL
23 ™A having v-ed)= 2SALELH UM AHIS
LIEFLHEY,

boast A15HCt, ELHCH

3 = S5 YoM 282 8t ZdOiI 371 WL
‘DEYE Z0i| 37t H A0|ER SSEHO[TM 2SAE
Ch 01X S LiEi= 223 SBAIR! Thaving been
v-ed,S MOF BTt

insult 2S5tCH

4 L= 17t 0| 2%6h= A0] AFED
SHA] 2oy F0iZ2
BARZE FRIAS] S AL

A

1 ourfus] coming to class late

2 sending it again

3 Mary('s) coming back for Christmas

4 having lost the tickets for the musical &£ losing
the tickets for the musical

5 she spoke so rudely

~

i 2ol =X

thatHel SAIE SHAIZ £ Of thatEel =
o ooy 07t EH, AR

Ct.

ro

1 Zd <27

0;
4

complain about[of] ~0fl sl SHotCH
2 K= 90| 712 CA| 2L FA|7|2 HEELC
— S ChA| B ZAIZSLTIR
= F02F SHAS| o|0|4 07t
2 M2 HFAIGHK| eh=Ct.

U5 youo|2
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3 R2s 2% MaryZt Z2|ADA 0 S0IR7|E 7
— 98 ns

CHStC,

CHSH
—r: Mary7k Hﬂléﬂfﬁ [[H %Ofa A% 1|:H6|’
ini o||:|-
look forward to0IAl toE HXIAOIZZ SHHZ 5Y

AFS MOF ot o0y 0= Mary's = Mary= £

fim}

A= E|5”'° AU S AHFACE
J-}7‘|0|L that®2 IH=0|22 A=Y
o, admit, deny S2| SAZE M01 HL
SN f 01| ME LiEHE 4~ QALH.
5 Paulas O Ra5P L5t As B0
= SSAMEL YH AIHE HEHER
that=e] SAt= isECE A A7 =0f0F SHCt,
rudely S5t
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1 opening 2 being laughed at 3 organizing
4 being treated

| % 3RS & 205 5 A4
=2 32
= T

2 CIZ AFOAM HIRSUEH= HS Z0fsh= AR 9Lt
701 Nobody= HIRSYTHE HA0|22 SAITO| 4
&H being laughed ats 2ct

3 U= ARG Helsh| AIRRIL?

4 ZOHK|= MO Z CHEOK|= S Z0fsict
701 Puppies”t ‘THIRIE' TH40|22 SHARS| +SE
being treatedS #2LCt

affection 01X

C

1 your[you] passing the exam
2 her playing mobile games too much
3 his daughter('s) having been selected as a finalist

1 L Alsig STSICIS B oJNo] it
— Lt UPH NES ST B 2JA0] ¢oic
2 JE BHY AYS YR 0| st 28 AFsit
— T JL7} BHIY AYS LR 0| St 2 2
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3 Jakes Z&M TEXZ MHE 20| XpHAZUCL

— Jake= A7| 20| 2& TEXE MFE A0| KFAY
pol= )

finalist Z&(
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1 understand, his[him], being, late
2 was, upset, having, been, punished
3 his[him], choosing

SHAIE M SFALL| 20|y
7402 LIEFHCE

E|-|O|_' SZALLL} 0|72 Yo|=

-ed,2 LIEFHCE

SIMNE MH SHAR| 20|y F0{= &
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WRITING PRACTICE

1 with the actress having been given

2 my missing the deadline

3 for the meeting having been delayed
4 like being wrapped in a magical cloud

0=

ALS] QJ0jY FOI= SHAN 20l A0 2T SHAL
SHiE= Thaving been v-ed. YEHZ £L1

ALS] CJ0|Y F0i= SHAL 20l 2Lk

ARQl 20j4 F0i= STAF 20| MO ATH SHAL
= "having been v-ed, SE{Z AL

YAH= "being v-ed.) YEHZ £2LL
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CHECK UP

1 to buy 2tohelp 3 going 4 studying 5 having
met

1 E0o 4= f%ﬂ% o 77t 430
=
=

afford= to

2 Nell2 & H4E 5= A8 HEOL

refuse= toREHAE S0
3 EHSLHO| LIS WK A% M|

keep2 SHAIE SHUZ F3
4 O G5 SHHK| k2 A F3ECk

fu
N
09

fo

regret v-ing: ?Jic‘l As 23
5 4 I 4NE D
deny= SEAt

U ok

A

1 eating 2 to introduce 3 staying 4 to become

5 cleaning 6 going

1 Ue 230 2 £2 848 YA 221 it}
unhealthy 71Z0f
2 Jeff= L 2T X017
3 U 2Este d=de gol
"orefer A to B, (B2C|
2ol= F2 STALE 20,
4 Anitas 127 2| O':':'5H7(|E|Eh_'_E Ofl & SHR] 3,
5 22| tg TR Fadhe A DIEN?
put off DI2Ct
6 Lt= 5tt00l| 7t HAKIZ Ron2 BUTZ Th= XS A
QFHC.
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1~6 > avoid, put off, suggest + SHAL /
promise, expect + toFEAt

1 not advertising their products 2 visiting Rome
3 to call herfhis sister] back

0 Trevor= Laura0ilZll Tatsh= AE AOHICL
forget to-v: Y422 ~alioF & ZiS 9Lt / forget
v-ing: 2A0 ~ef A= Sltt

1 OS2 NEsS 310k g2 As 2RIt
regret v-ing: ~3{H XS F=I5ICt / regret to-v: ~&t
71| E|01 |soict

7|434LC,
remember to-v: ~& A& 7|96t
v-ing: ~3MH A 7|5t
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C

1 going — to go 2 to practice — practicing
3 to hiring — to hire 4 O

1 U= 2OEts 228 7t ol SR
agreet %@.(HE to—'?'—%i*f% Flottt,

2 I:I|-0F [_-||7|-

t

S HE AHBE Ao =2 OBt
expeCtE %""O'li oFHAIE FoIEE to L0l S
AHEAO| LI2IOF BT,

4 Uz otAnE F g HO EUX|2, SFO0[ ARRKIX]|

LRUACL.

try v-ing: (AI& 0f) ~6li 2Tt/ try to-v: ~5H4 1l Of
MLt

aspirin OfAI[2

D

1 always remembers to lock the door

2 never forget climbing Mt. Everest for the first
time

3 prefer driving to taking

4 regret not listening to my brother’s advice

5 stopped to get gasoline yesterday

1 Owen2 7P| T 28 HIE AS = 7|2!Tt,

=
remember to-v: A9 Z ~& HE 7|5}t /

-

remember v-ing: ZLA0 ~8t AS 7|5iCE
2 UE NSCZ OfHi2AE o] 2E AS Hi WX =
Zdo|ct

forget to-v: ~& Zig ALt / forget v-ing: ~H S
oot
3 Of¥lE o, L= 7IXE Bl ARCH A Els 2SO Z0F
b,
prefer A to B: BECH AZ O ZO0t5tct
0] 42 Ui prefere 5%
4 Us XZ Ul gel 31 EX YUH RS S35t 7t

SUL.

ol

regret v-ing: (LAHO) ~3H XS FEI5ICt / regret
to-v: ~6P| 0] RZ0|Ct

5 Ross= O +RE ot O 11 7420 2% st
stop v-ing: ~oh= 2 MFLE / stop to-v: ~517| ¢
ol L (Tstop to-v,Ql toFMA= HAE S#0] of
L2t SXg LEt= AN 88)

= T od
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WRITING PRACTICE

1 delay, paying, their, bills

2 expect, to, learn, a, foreign, language
3 remember, buying, my, first, car

4 hope, to, work, for

delay= SHAIS SX{0|2 Fot= SAt
expect= toFZAIE SHOZ Fot= SAt
remember v-ing: ~8iH g 7|5t
hope= toRHAIE SH0IZ Fot= SAt

A ON -

CHECK UP

1 smile 2 work 3 seeing 4 eating 5 arriving

1 L= Wi 0lo|SS = mf 0|4 XX| &2 + gict,
cannot (help) but + SAt
2 Sarahe 20CHol SEOIM LS FUCE
used to-v: ~otZ Rt/
be used to v-ing: ~5t= Ol 2=5ICH
3 0| ¥at= = ototct
be worth v-ing: ~& 7tX|7} QT
4 L= 25 Yoz Aste HX| ot

ro
o9
1
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A
52
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feel like v-ing: ~&

5 W& A M0 L= Z0l Mo E2GEK| 3T
keep A from v-ing: A7} ~5ti= ZiS BICH ATt ~5HX|
5| STt

traffic jam WS SA|

A

1 dropping &&= but drop 2 regretting
3 stretching 4 spending 5 coming 6 succeeding

1 L= 72 HAS Doi=g 5{0] UUCE.
can't help v-ing: ~6tX| 22 <= giCt (= cannot (help)
but + SAHY)

2 0|0] O|R0IT LS 3l H0F AL

It is no use v-ing: ~oH= ALt
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never ~ without v-ing: ~& MOfC} ---3C
Tl X7| OFS0] 2 A7 HRE] A0l UX| oAl st
2 BX|TH HIHRKCE,

stop A from v-ing: A7 ~5tX| 2517 St
U 7452 L7 FHOl =2 7h= ol e=stct

be accustomed|used] to v-ing: ~ot= Ol 2=5atct

o [ 5
2 ¥ Qol= 438 = gl

ot

1 On[Upon] seeing 2 speaking when the phone
rang 3 use trying to explain things 4 help
disobeying the order

1 RonaldS =IO} L= 1017 L2 AA0] QISS LU
Ct.
onlupon] v-ing: ~GFXHOLXL
2 [t eSO d= 9 LS ShedE FHOIU
be on the point of v-ing: 2f ~5t2{E Fo|Ct
(= be about to-v)
3 7HolA B7IE 2ESHH L ofME A2 A&1E HOIH,
It is no use v-ing: ~oH= A8QICH
4 Emmats HES HZ =50 iU
can't help v-ing: ~6IX| 242 &= iCt
(= can't (help) but + SAIY)
C

1

4 W7t JdoiA 2oty 2 o Olives 2

1 walk — walking 2 O 3 try — trying
4 cry — crying
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A
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J1149| of0l= OfH| EXF 2= A
be used to v-ing: ~0 A=5HCE / used to-v: ~oHE
St

L= EARRITO Z2|A0tA MES 7ITHotdl UL

look forward to0|A to= HXIAO|ZZ CHS0| HAILL

SEAPE 20,
L= S=0

Ct.
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i

spend + AIZHE] + (on) v-ing: ~6H=2t AIZHES £

HIHCH
xHoIRICt

be on the point of v-ing: 2f ~5t2{E Fo|Ct

Yot YIS HIPL2t 2oi0 T S B

D

1 feel like talking 2 kept, from sleeping
3 have trouble sending 4 am busy doing

5 am accustomed to dealing with

Lbe T47} S5k MZIBICE Lis 149t ChA| 25t

[

EXREES

feel like v-ing: ~otal ALt
ZAEAZI7E O3 10t 2 AR U
keep A from v-ing: A7} ~GtX| 25t St
L= LIS IYs Bils bl g o2ige 2= A 20k
oy ofel.
have troubleldifficulty] v-ing: ~st= Ol 012182 %
Ct
o Lot R 7k RIg WHE Szt s E,
be busy v-ing: ~ot=2} L}
do the laundry MIEstCt
Lhie 3 S0 02 MH|A BlojA 3iA, 223 A—S
2 OR = o A=sict

be accustomed[used] to v-ing: ~6t= Ol 2=5ICt

WRITING PRACTICE

W N -~

1 never, without, fighting

2 prevented, from, going, to

3 had, difficulty, finding, her

4 goes, without, saying, he, speak

never ~ without v-ing: ~& THOFCH ---StCk

prevent A from v-ing: A7t ~5tX| 51| Sttt

have difficultyltrouble] v-ing: ~5t= Hl 01218E %
Ct

It goes without saying that ~: ~= Z& & giCt

24 TEST

1® 2® 32 smart, enough, to, graduate

4 (A) of B) for (C) of 5@ 6 @, ® 7 making, fun,
of 8@ 9@ 10 are to hand in their reports

11 of having stolen a purse 12 @ 13 @

14 to ride — riding / watch — watching 15 ®
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16 @ 17 to, have, been 18 it[lt] 19 too bitter
for me to swallow E= so bitter that | couldn’t
swallow it 20@ 21 @ 22® 23 @ 24 to chase
25 26 @

1 @0 2ME F= A0 #2717
ZIZR0Q! toRFHAIRLE THAISH= 71301 it0] that CH
2L0F ot

© L= HUE MR &3 = glth
can't help v-ing: ~otX| &S ==
but + SAHHY)

@ 252 =915 A%sts [0l SO
agree= toRFAE E&*WE Flok= SAt

@ Y0k= W2t TV 2=

allow + ZX0{ + to-v: (FX0})7} ~5t= XS G5

® Z4E2 7t YIS YD SHICY

%x—*.gl —IUIE MY,
3 J=0R ‘“—E.OHM DESIIE AR ZASE 4 QIRACY,
2 AH + that ~ can[could]; 222
~5t Ot= %EBI 31| o0 2 THBAHTAN +

enough to-v,2| HEIE HHY & = QICk

4 (A) LOIA 28 712X FOL gl & ZIESIAZR.
(B) Li7F 1 A0l Satsh= X2 02K
() AxLS SITY He= HiE 2L

SHAO| 0l F0j= HE Tor + 2EH,0 Hef2 M

Xt AHHOl TSt HWItS LiEt= F8AH Flols Tof +

5 Jamesz= E2 G0 LAULL FOE 7IEX = A2 20|
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TIF0{Q! toFYALE THAIohA 71201 [t0] MACY,

@ = I A AIDE Ho L3t
try to-v: ~ot& 10 =S5t
@ TVS E= Uil Lk= A
HRIAS] FHOIZ MO
® 1= AN 2HAL ot AS QUSR] LU

admit2 SHAIS SO Foh= SAICL

7 David7t Bt 2715 20IM Sues =24
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— David= SueE =8 Ag Z35iCh

regret v-ing: (Z10ll) ~3H Z2S S 3I5HC
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look forward to v-ing: ~2 7|tHotCt
@ J52 71YE miZtste Zof BHHHC)
be opposed to v-ing: ~S
@ L= 829 Be Xigot=s H
be encouraged to-v: ~ot== BRI
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[23-24] Dorothy= EY 20| A0tM SEES izt
U, 19| 3=2SE 0t 1S MOEQIC Toto= HM
MSO=2 02| 912 Zorth= UHIS Z0|of Aol
2 sl U= XS LALEL = S5 LY HEAR

1, 0i XIZl 522 DorothyE HF2HEUC

companion & / chase ~& £, &4
~& XLt / pant EHoICt / fatigue T2

{5ttt / past

23 > @ IO QS US 0[0P |5t YO DR THAIH
(put)2 AOF Bict

24 > too + YBAHEA + to-v: LT ~allA] & 2= gitt

[25-26] 2 71421 CeCe Winans2t &
Ol0F7o =CHH, Z1H7F ARZ0] AL &
7 g 7-|o||:|- opan J= EE@- =
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confident Xt Qli= / supportive XIX[ot= /
dedicate TF5tCY, HAIGHY

rH1

25 » @ spend + AlZH
AH|GHCH

] + (on) v-ing: ~ot= Ol AIRHE]S

26 » Ot} A0FO| ekt OfLet & A}AI0| 511 42 LS

CHECK UP

1 crying 2 excited 3 baked 4 watching
5 damaged
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He= MZ0M 210 U= 04XI0[0IE OfL?
552 9l0|(the girl who is crying)0I22 XAt

2 Jean2 MEJO] 7P| =0{ 0] &CH,
Jean0| excite®] THM0|22 beSALRt &H +~SHIZ
MOl TAZAL
3 L= 12 ZXE HMYUZ 91 AL
252 9|0|(a potato that is baked)0|2 2 BpARAL
4 O F3tE HEM HE & SXI5 HAUTL
watching Olot= SAISZ] Q0|2 2 THE 4]
Sh= A E
5 =1 FEV &dE AS LA
the coat’t damage®| ChAH0|Z2 TARAL
A

1

1 given 2 barking 32 staring[stare] 4 called

5 locked

Pat0] & d=2 L ZUCL

= =S

52| 20|(the glfts that were given)0|22 1tA
At
2 Ues e ) H20)| YollS STk
559 oj0j(a dog that was barking)0|22 SiXHEAL
3 Lt= O Q10| LIS HI2tE = Z1S LORIRICE
S5 HO{Z Mon Tl 2|0|(the old man was
staring)0I22 HMEAL (H, XZSALS] S H0{0]|
02 SAYE 7Hs)
stare at ~= SAloICt
4 CEIOJEIH0[2h= F3tof| CHoH SHEUL?
#=9| 9|0|(3 movie that is called Titanic)0|=22 1t
HEM
5 = &7 25 1 OfAXITE HIH3KCE
52| o|0|(the door that was locked)0|22 117
B2AH
B

0 LUE OXE =20 JdW=

1

1 chasinglchase] her dog 2 containing all the
information | needed 3 suspected of being a
robber

A2 CHCH

— L= A2 O OAS 2RI
OZ7F hurt?] 40|22 39| oj0|E LEH = 2kA
=

L= GIALOFOIE RHCH = A7| JHE Z11 UUC
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2 0450"M01I)\1 Lol HALS 2LHFRACE 1 MALO= Wt 3
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ISl == Emomq
— O{ZALOIIA] L7} HESH HEI 25 S0{UEs MAE &
LHZ= ULt
AL HEE 2ot FHO0I2Z 532 20|S LIEHY
= AXH2AL
3 L= O GAUF ZHEITT M2Bin) O 32 Qg
ALY,

— Li= Y Eol2 W 1 YRDt ZuEiciT A2teic,
1 YA HOIS W tA0|02 £59| oniS LEh
= Byl

suspect 2o, &oE FrCt

C

1 making — made 2 fly — flying 3 O
4 frightening — frightened

1 0] 2X0IM BHE0X = 22 REE2 S=SEL,
goodsZt makeQ| H&0|E22 59| 2|0|S LiEt=

DAZAL

good (pl) &4Z, & / export £EsiCt
2 22 02| FHS o= MS0| QUL
fly= birdsE s=Alot= A& 50
FHOIZE FHRIZA}
3 Maurice= JoeZt SHM EF= XS EAUCL

RPZtsAle] 257 HORE HHSAL SAUES 2

F 5t birds7t fly2l

4 ol
4 Hss =
Wt BS0l =

2t 707t A OfA =2 SRIACL
2 IMO0|D2 TARA

1 Amandas 2& o ESatn QUCk
beSALRt &H M0 TS LIEHHE STHEAL
career &, 29
2 HE OFFA2 XpAO| OFF HH|E 7hMLt0f BT,
camping0| gear2| 8- SHS UEHHEZ SHA
3 50 |O|'i ol')\HEQ AI%
studentsS 4Al5t= SXIRAL

protest 22I5tCt / march ZIsiCt

4 49| gR s ¢ ZEMES US5h= A0|Ch
beSAte] EH{Z MOl SHA}
oversee Z=5ICH / construction 714
5 LUe SVHHOI2EE A= Ag S
K| ZLSAS| FH2A HOE MOl HXZAL

WRITING PRACTICE

1 sleeping, baby 2 two, broken, cameras
3 a, taxi, waiting 4 walked, into, my, room,
shouting 5 watched, her, son, playing[play]

589 9l0|(the baby who is sleeping)0I22 3
At
2 > cameras’t break?l tA0|2 2 ItHEAL
3 > ataxiZt waite] FHOI22 sE& LEL= SEA
(ALl A1 77 201 ZOIXIH HAL Flol| A 4)
4 > 302 Heol HEi- SE2 M&dhs HRNRZAL
wildly HZA
5 > XZUSAS SX7 HOE SR E
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o
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32 532| v-ing vs. 32| v-ed

CHECK UP

1 cut 2 shocked 3 waiting 4 breaking
5 disappointing

1 Bill2 ol it
S have?| 87 HO{2AM SX012! his hair/t
cut®| hA0|2 2 59| 0|5 LtEf= AR
2 & OFf 2@ obX| UL JEe I RIS 21 54
% I:II:HRIQ()l EEIO-IEl—
JE7t 5248 e 20|22 shocked
3 01 2 7|kl siAf Ojetsh,
559 2J0|(you are waiting)0|2.2 SHX{LAL
4 L= 570 BY HES HE2s Ag 20
552 2J0|(someone broke)0|2Z HAHZAL
5 26l O Al tiEE2 AYARICE

The company’s sales7t &g 7|7 St= 20|22
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A

disappointing

1 a. satisfying b. satisfied

2 a. annoying b. annoyed c. annoyed

3 a. interesting b. interesting c. interested

1 Serenas RAIZE E2f ULt 1 3¢2 253U
a. FXIE 3¢ AR
b. Serenac FXIZ0| HE3MCE
2 O 3IME2 AL Lo Mt 70 A2 FU=Z LE

HEA et

a. 11 2ME2 2 U

b. 1 3AE2 LHE WS LA Bk

c. O ZME M2 WS LHEKH A8Ql= o|ck
bother H&7 SICtH / annoy W& LiA| StCt

Karle &7t © £330 Z oI-o|ct. J= 5t i sHelof

7|— = X‘lol O'i|:|-

1 worried, might lose 2 exhausted, had walked

3 irritating, come to class

C

Dorise 20tE =8 942 =k JUS7t =t A4H5t
B

Doris7t ZA&s = 20|22 worried
T 100tds 200 H S XX

7t X2 Z40|2 2 exhausted
WAZM SHES0| =40 X[25HH HERICt

when 0[5t2] LIEO] H&2|AH| St 20|12 & irritating

irritate W& LA StCt, AS2|Ct

rir

A

o

1 a thief running[run] away

2 her portrait painted

3 his song played

0
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252 9|0|(her shoulder was grabbed)0|2.2 2t
=
1 10 AE2 E50| ZHOAMN =Y7h= XS 2T,

9l

ZI3o| o|0|(a thief was running away)0|22 XL
Ab(H, XIZESAte] 22 S5 HO|2 SMEEEE THs5)

()
]

OAtE R a0l JU9 243ts 207 AT,
29| o[0|(her portrait was painted)0|22 T74&

>~

t
3 1 3897t A F0| AFEE XS UMM S
O

A
252

Ol(his song was played)0|2 2 TpARAL

D

1 O 2 amazed — amazing 2 walked — walking[walk]
4 throwing — thrown

remodel 7iZ=5ICH 2|2 AZI5HT
2 e tohst AZ0|ALE D= A0 = HHERICEH
play?t s217 ot= FH[0|22 SHXHEAZE =0{0F ST,
3 Lh= O7t 2 Wt 210 s XS R
X|ZtsAt saw?| 5524 H00|H 5329| Q0jo|2=
walking &= walk?t &0{0F Btk
4 1 g2 5 US0| H™XA O
A SAL hadel 52 E0{0|0{ SX0{ himO| throw
O LHH0|22 IHEAF thrownO| 2HOF BHL,

WRITING PRACTICE

11, was, surprised 2 His, lecture, was, boring
3 had, your, wallet, stolen 4 found, herself, locked
5 keep, this, sauce, refrigerated

1 17} Z2t28 L7 20|22 IHEA
unexpected Oi|7|X] &2
2 » His lectureZt X231 BtE= 20|22 ST EAL
3 > MYSAY 5XZ H0{0|0] 32| QJ0j0|2E AR
4 > J47H 23 Y022 39| QOIS UEt= HAR
A
lock &IC}, 7H=Ct
5 > this sauce?t d& HtT= Y022 52| o0IE
LIEH = TEARA

refrigerate (84 S8) WA
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CHECK UP

1 eating 2 Tired 3 Buying 4 Not knowing

1 4= ofoj|ATgn HE2s MU 25Y TVE 2t
SANSEE HEHE BATE
2 UiY HZ2 2E ots R0 #4350 UM O= gs JUF
oict
0|RFE UEHE BATZ2E ZA
ALO|H being2 EE M5
— Because he was tired of doing ~.
3 Tom2 EE M UM SFHO=Z SOIULCE
ALggs LEE ZATE
— Tom bought the tickets and then ~
4 04z 7i0f EXIE S2M L= ZEHBOH SHEUCE
FAFLES 22 2AF 40l notO|Lt nevers £2Ch

22 At bes

A

1 Having no time 2 Turning left at the corner

3 When | woke up &= After | woke up

4 listening to music 5 Because[Since/As] the
lecture was presented in Chinese 6 Saying
goodbye to their families 7 traveling around Asia
8 If you leave your house early

2 2S0l0lM f X._‘E’ offl ad=E 2E AOICL
3 hoiL B LE 00 2% ZHHE| YD Qitks XRE 7 &
AL,

OBt H|Z BT,
5 Z20{= LEEQW| H20| T LA 017t 2K ¥
o

UL,
OS2 71B00A AE 2UAS ot HI7(0 SFAC
7 1= OFAOHE AolEM Of2] B0|22 RS2 LU
Cf.
& oE S UMH uE =Ee Ijg Aot
1,2,4,6, 7> 2ANFEE S Me S5 HSAME Q0K
U, BLEM FEL EZ2 FHE W = 5

3,58 22 HiE s M0 S ZSAME HEish
1l FEO FUE 2 7 ZAE TR AN
LX|A7 SALZ HHELE

B

1 Writing — Written 2 O 3 Tried — Trying 4 O

5 Wearing not — Not wearing

1 2= MoK QoA 1 22 HYstr| of2{»Ich
the text7h write2Q| CHYO0|Z2 TtHZAL
2 L= HeR Xl QU7 AIE =4I
2 LIEE AT
witness SZsICt
3 L2 AMES THRX| 22231 St Jld= 2ol Of

Ls—

=

SASES UE= BATR0IH 588 UEHHER
32 UR MOl silM XIF2B2 JH= fAI8 FAUCL
UL 0|RE LEH= 2ATE0IH Being
exhaustedOilAf Being2 AMztah &~ ULk

5 HAS Y| 0N Li= 1 Ao S0f2 4 T,

1 Not feeling well 2 Leaving now
3 Being a vegetarian

0 Daves s MLV &5 HIALL

1 Z0] ZX| ¥OtM Nate= 2= OFHO = 2Tt

2 Xg st O OfF EXtE g 4 Ut

3 AAFRIEIM W HESHMe o SRQ| 17|= 9| o=
ch.

vegetarian XAIF=Q|Xt

1-3 > AT FHO| F0I7} ZOOR FAMS FAHS

F0IS MBI ' HAEY SAE FUZAR HIE
Cf. SAIRRY BHS 24 Y0l notS 2L,

WRITING PRACTICE

1 Not knowing what to do 2 rubbing his eyes with
his fingers 3 Preparing for the party 4 giving him
a birthday present & giving a birthday present
to him 5 Following her instructions
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1 > BAES BE2 A A0l n
2 > SNSES L= 22
rub EX|2LC H|H|Ck
3 » ME UEE A2
make a mess YUO = PHSLCH
4 > OEHEE UEE 2AE
XS UEH= BAE

[

3 4 Folsfiof & BATE

CHECK UP

1 time permitting 2 Having seen 2 Made of
4 Strictly speaking 5 crossed

1 I 2HEs A0 S 25 0[F01F 2otk
ZH9| F0i(The presentation)2 f%”‘e@l 7‘01(time)
7t 282 2AF 20| 20j& FHE MO

Ol 2 Y35 27| W20 22= o2 %if% 2712

=

4

N
3¢
n

-‘=r'A}—‘r1-.-0| FEEC A WS UEE 20 2=
& 2AE(having v-ed)g 2L

3 EAAHOZ RSORY| MR 2X2 SOl =t
it0] makeo 0|22 ~FEHE LtEtHH= Being
v-ed,7t =|0{0F BtTE BeingOILt Having been2 25
M2 WAZAL 2L,

4 3| LM 0] EH”% S
strictly speaking: 25| Y5tAIEH / speaking of:
~9| 0717t k”ol-l el

5 4= te|E 14 ot
fwith + (AL + 2ALE O| -2t M=, ~0| -Eof
2te SO2 SAISES LIEHHCE legs?t crossel CHa
0|22 IHEALE £LCt

A

1 Having eaten dinner 2 (Being) Delayed at the
airport 3 It being late 4 The party having ended

1 XYE 92 20 L Fo| SUL

SEAE AM|IZE FEO AMMEL HMEZ 2t=d A
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2 £%5| 2

3 OlOt= 25 & AR, Tk L= ARl F7tste

SYOUA KAERA7| W20 BEA AIZH] 5301

+SHIQ 2AES BAECE HHH Being
delayed”} ==0], 0|1 Being2 F2 H2f3iCt
make it AIZHOll SE0{ Z4Ct
3 A0l =01 = SRS J9RI)
SAPES] F0{(it)7 FHO| F0{(he)2t CI2EE 2A
29| 2I0|Y 015 MoF Bk
4 IHEPDF ZUX 2l EO=2 ULt
SAES] F0{(the party)7t FHQ| F0i(we)2t T2E
2 BAILEC| QDY OIS MOf ot FEBCH oM

AHOIEZ 2tad ZATES 20

1 Judging from 2 Frankly speaking
3 Granted that 4 Speaking of

1 O7t Eot= wAe=2 HHopil Q4= ues 2 2%

0| S

judging from: ~2 HEHSHAC
well educated BY0| U=, WSS & EI2

LOHAFH L= WIZF 201 At

Ch

frankly speaking: £%I5| YotAtH

Ol
—'—

=S8

granted that: H|Z ~0[2 SX[2t=

4 O Of7 |7t Ligtel 2ol Lis FE2 HEOOR| 71l

=S8

speaking of: ~2| 0§7|7} LigtoL| Zoln|

—r

Having asked — (Having been) Asked 2 O
3 O 4 folding — folded

1 HI2Z oiFetl S5 2ot 59| ZH(0) 2ol OFFA
O

asko] SHO7L 91T SUY HEIS W 20| XA

£ LIEfLHOF 512

2 MO ASHA FAISO| ORISR 2 H & H=n
F

generally speaking: 2O 2 AGAIH
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32
il

R

BAFLES] F0{(it)2 FHO| F0{(we)7t CIEER FA}
TE9 20l FUE ZAF A0l 2Lt
4 52 TS 7 A HOoIA Z(ck2ia QAT

At + AL 20N armse fold2l Cha

)

E_|
=
o
+
h =2
ﬁ

0|22 =F= UE=E IAZAS MOF BItt
fold T}, (& -2 §8) 1t

D

1 Having finished the report

2 with the sound turned up

3 His mother encouraging him

4 There being no flowers in my garden
5 Having been invited to the party

6 After having completed her book

1 U= OH EaME &2
tt.
ZATES AIMZE FEO AINED ANE2 2=d 2

W1 W=l @5 2 TEo] 2 4= U

ARl 'Having v-ediS £Lk,
2 LE 227 AN HEY 4 AT
"with + (CH)ZAF + ZAL TROIM BAIRE ZAR] 2A7t
30|22 WHFAE 20,
turn up (A21E) 27 Sict
3 19 ofHU7E 25 ARG, = HIIE S| fla) 2AM
M AR OARCE
EATEL FEO| FO07F F2HN BAE A0l 20l
FOE 2 0|0t
pursue =70t off Li7HC
4 Fyo| £0| QOIM L= 23 d7IZ Rk
"There islwas] ~ 72S BAITECE OIS Ti=
ThereS 2AF 20l &0
5 IE| =UE B0t 7P7|1E HESP 7 SU l'—f
TATZL ARIZEFE AIHIEEf UM 32| 20|
0|22 'having been v-ed,& &
6 X dMz rget Fof 2l %7f§ CEf S,
o|0|S Het| S17| floh HEAE YBIR| b2 A

ZO0ct,

WRITING PRACTICE

1 with, the, light, turned, on 2 Judging, from, her,
letter 3 The, weather, being, fine 4 Found, guilty

5 Having, graduated, from, university

T > 'with + ()AL + AL F20IA light®t turn onO|
£ A2 2 IAHZAL

2 > judging from: ~22 THEASHACY

3 BARO 017t the weather2 FH2| F0{(we)2t
CI202 45{0F 5t beSAtS being2 2 L.

4 -r/\f—_r“z'ol C’||:|| Z0121 he7t find9| theol22 3

”E@EF.
fine ¢2
5 » BARO0| FHELE §F AN YAME2 AZH AT
= .

35 USALE G, SALEA
(and, but, or, so)

CHECK UP
1and 2and 3 nor 4s0 5or

1 J= OFR0AIE EE 22X U, OFfE J0H 25 2
X| 4kt
F 2d0] T20Et= S22 O|0A1 Q282 HEAL
and7 YLt
2 U moteet VIEHS £ O A5 4 T
both A and B: A% B £ Lt
3 HYE2 Lo A= MEE WX oNt
neither A nor B: A= OfL|11 B OFd
compliment &zt / punishment &
4 L= ZAY| 19| 0152 OHRCE 224 1A 2017 0f
A2 XA,
M ERtE o= ZNE UEUWEZR H4A so7t L5
tt.
5 QIHME oHML. 22K 2o CHE £ AU
or: (F2 FH0IN) (~32f) 224K o™ -2 Zo|ct

A
Tbut/c 2so/d 3and/e 4but/a 50r/b

1 L= JHE fIg dEs XY, J2H0A == As Lo



HHICE

2 Jennys H{7F 1AM MELIXIS 2SRACL

3 L MEO7(0) 22t BRIS Hi2tE AT

4 L= J01AH QAAES Sf HUKX|Z T10] 0I5 S 71e &=

AA.

5 Uz 2/eF & 7t AU, OfLE FHojl AS2H?

1-5 » SATEA B0IM so= TdM'2le ZtE, ande
T2 etE FOF EE SOl LMEtE AR M5,
but2 ‘J2iLi2t= RS, or= ‘E20[2t= MEiS Lt
EFHCE,

B

1

2

1 either a lawyer or an accountant

2 Neither the guidebook nor the maps were

3 not only Rome but (also) Athens / Athens as well
as Rome

Greg2 HS AL =L S|AAZ} =2 25HT
either A or B: AO|7{Lt B
lawyer IS A} / accountant St
1 QHHME =20| HA| SRUACE K= =F0] HX| 4Rk
Ct.
— 11 QHHME X|EE =F0] =X| 2ACt
neither A nor B: A% B & Cf Ot (SAt= BOjl YAl
WNEE)
George= 20t YEHCE J= ot OfHUIE Y=
— George= Z0HEDF OFL|Z} OFEfH| = HEFICH
not only A but (also) B: A¥2t otL2} B=(= B as

well as A)

C
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10O 2only—notonly 2and— but 4 going — (to)

go

not A but B(A7f otLz2t B)ollM A, Boll siE st

Al

01

=71 fIiA7E ot S+ F71E 27| fl6iA

7t to help his wife, to watch the soccer gameOICt.

Ltz 3|SHEDE OfLI2) RZH0j= 2A0] QUL
but also= =0t ‘~#3E ofL|2t - FAl2t=

0ol not onlyS AoF Btk
sculpture &2
L= M= &2

Zh ORI

ORAJR] Q4RIZE, A 0l= 2fl
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njo
10

%oz ¢

-

—r

either A or B(AO|7{Lt B)0IAl A%t BOlli= 22 EARLt
Z2 SEfQ| 0177t 240F SHCE choose= S&
YAE FIGtEZ or FHOl: to stayXE to goE
S O #H=E= tos 42 7HsSSIC

— o=

= to?
MOF

either 2 Both 2 but 4 neither
Li= Ul iS4 OfLITH Ul AES BHHLE O B0IX| 24
StX|= 4Lt
Holl or7t L1222 eitherZ MA] "A0|7Lt B'2tE 50|
=ot,

Fp 7 S o ZA71 HAsI
FlOll 2= and@t 288 4= A= X2 bothiolCt
a2l o3t Al L= YU OfL2t F¢s F7IE it
not only A but also B:
inspirational FZ[ZES F&
Tl MAZRQIRICE 17| = é%* M HX| oh=rt,
neither Anor B: A2 B &

WRITING PRACTICE

1

and, will, see, the, sign

2 not, an, antique, but, an, imitation

3 either, a, taxi, or, the, subway
4 but, he, just, laughed, it, off

YHE + and: ~oli2t, 22 & Z0|C
not A but B: A7} otL2t B

antique &2 / imitation 2X2&
either A or B: AO|ALt B
but: J22iLt (L)



T _———
3 6 HALH O] Z&A LA (that,

whether, if), ZIHo|E2

CHECK UP

1 that 2 he will 3 Whether 4 What do you
believe 5 if

1 2207 o %2 LRIt BQsith= gilel ozo) Txe
2 St
that2 your idea?l IS ¥% H%st= S4FES 0
I= FEA0IC,
absolutely o2

2 Ues 27t o XHE MERX] 27 QUL?
QZAE 0l1l= SIZ=0| F0, 20, SHHZ M0|= 7t
HoAZE2 Lt AZ 21 F2| "AZAL + O + SALY
01z=0] ECt.

3 U7t A710fl ZH=Lf OfLLb= EQ35HK| 4Lt
"whether ~ (or not),2 HAFES 0|8 ~QIX| OHX|
2t ShAfBHC.

4 Uz 20| M| SOt M25H?

—

=X

=
t

(=}

| do you believe[think/guess]

S yes/noZ g
= 8% HHIEER A=RME B

Ho|22e 9 f A0l A
Ol2At + do you believe + F0 + AL 0122

i

1 that 2 whether][if] 3 that 4 whether 5 that

1 W7 ZeE Ol R AFRR A 2L
seem?| 20| HYS ot EE 0|n= E&HAV L5}
Ch that2 ~O0l2t= 202 S£O & 304, 2O, SX0f o
&S ot= BAES OlZLf

2 Lz J4E E0iSkE 20| 2SX| OfEX] & ZEC
knowQ| =H0] A&ts sh= FAES 0120 ~2IX| ot
HX2te 58 = TSAE whetherlt ifs & 2 Q)

ch
3 47t o|o| THE YAE|SE FRUCH HE A HCL
[t2 7t304, thatO] O|T1= HAFEO| T <

ok
o
_O'E
=

AL
4 Lk= 1O7¢ REQIX| OFHX] & 22204,
if7} 0|T1= HAPES TXIALL SEOZ MO|X| B2
whether?t t0f StCt.
5 U7t F2|A0A mf FHoil 7|2 FCH] FY =S
[t2 74301, thatO] 0|Tl= HAFHO| X0 HEHS ot

UL,

1 1 don't know how much it costs.

2 | wonder whether(if] she is going to marry him.
3 Do you know where the subway station is?

4 What do you think she will wear for the party?

O|2APt gl RIS 20l= ESAL whetherlt ifS
2ct,

3 UHe Xjaka o] oftiol| U=X] OFL?
OIEATL U AR ER QAZAL + F0f + SALY O
O L

4 Uz JU7t MEIM B2 RS US 72t W25H?
ZH0| do you think0O|22 SI2APt 23 ACZ LiJt
rOl2At + do you think + 0] + ZALQ| 01&0] L},

C

lTcanlget—Ilcanget 20 3O 4 Do you
suppose how long — How long do you suppose

T 77100 0fEA 2 4 UAEX] HA LAFAU0L?
how 0[5h= ZHYI2 20|22 9jZAthow) + F0{ +
SAt2 001 &=[0{0F BTt

2 UIh g3l AmSteLE 0l ZRK] 2210 23 QU
whether?} 0|11= FAMEO| F0{2 X0l 2HO|Ct,

3 U W2H oHM I8 &g 2HEA] JOHRO,
where 0[5tz forgot2l SX017t Hi= 7HY2 20|12
2 TR0 + SALY OO R M= 0] ST

4 747|0il =AfSHE O AZHO] Ot 2 2t W2iStL?
0| do you suppose0|22 9J2At how longol
2 YOZ L7k "OIZAL + do you suppose + 301

o
+ SAhQ 00| =Lt
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D ... |
=] d XAZA
if 2when 3 that 4 What 37 BN ZS5HEA (when, while,

as, since, until, because ...)

—

1 L= JUH0H Petell 0iSA0|LIT SR
OIZAP} Sl Y22 E EHRERE HHE M
At ifLt whetherZ 2Lt

2 Ue O50| Z Aol S&0 =&=X| OFL? LIgHE| AlZte

_I|->

CHECK UP

o L0 1 As soon as 2 since 3 because of 4 Now that
2UY AES UEHE OI2At wheng 220 7HH9I2 51 get
20] know?| SX0{Z MCt
3 JuE 22U HUS LS QCH ZHC 1 OISR XIMORY L= =2 2.
that0] 0|71= HAFEO| decided?] 2X0{2 MG} 2 ~olAOFAFEtE 59| as soon as7h YL
4 F20i2 S0l 71 2 W0l 202t 425t 2 UE B HRE D0p=S AT,
L? ZIHO| SAHRARH0|Z 2 ~0|22'2H= 9| since’t Y
20| do you think[believe/guess/supposels B
yes/noZ LIEE + Q= S402R0 e ogas 3 18 I8 MEN LS S0eM HEU.
DK} OH k0| SCf TRIMR! because of Fof

tel l= GALE HBARE 21,
HEARRl because Floll= 0| 2L
high-pitched 152
4 O[N| AIEH0| BHCL] Lis MA7|0 TEE £ ULt

now that: ~Q! 0[&h ~0|L|77}

WRITING PRACTICE

1 What, do, think, this, room 5 LUH7H A710 =AfSHHE LA T2t
2 that’ you, must, finish whenO|Lt if 50| 0|11 TLE 2719 EARE0|A= Of2f
3 whetherl[if], get, a, refund o] Ug SMAIMZ LIEFHICE
4 whether, the, government, should, have, access
A
1 » ZH0l do you think7t U282 7HFHOIZE2| 2|ZA}
what2 2% 0| ==Ct 1 since 2 until 3 because 4 As
what ~ for 22 22, 2 5t2f
2 > thatS SHTS 0120 A the facte| Lfgg ety | H= OI0IS WRE 0 =AES O1S3H.
of3iCt since(~0[212)7} 0|11 BAMEO0| QlE 289 FHL
3 > whether} O|TH= BARPEO| 2X0{2 A0 2HOIC, O] FE HRAME SH.
I whether CHAl {2 £ 2 Q\Ct 2 HHTHXI MESO0] =28 W7 01714 ZICeA.
4 5 ~0IX| OILIAIZ LIEHAD] beSAl| HO| CISHS 3H= of until2 ~& W7X2ts Q0|2 SEOILE AEf7t A& E
APEE 0|1 HAAI0|22 whetherS 2L} H0J 23t S e,
2 BH= HAPES 012 mie if THAl whethers A= 71 3 Om L= SR UOA 12 2240 2 2 QIRACE
0| = O UHEO|C}, O0|RE LIEtHE T&SA beCaUSG7|' ZLQ3SICt,

at the time 1moll=
4 T L0750 ot Y47 O MR
as’t ~&t0f| W2fets S0|M 25 Hlug g4 MoIct

1 as 2since 3 while
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1 a. L= OjZohM &At20 S Z0IC,. the instant2 HIY £ & Qo0 H Ojtl SFAS 018
b. 27t MEQIXIE RIS I Lh= 05 FHIRHC 8l 'On v-ing.2 LIEH & QUCt
c. Lhi= tists SOt 57t & A0ICh

as: ~oM(01R), ~ot1 L2 () / as soon as: ~GtAt

OfRt WRITING PRACTICE

2 a. Ui XHFRE Xset 4710 22U

b. LH7} 42 oHt 0|82 e A2 L2 St 1 While, I, was, traveling
c. U7t YOIZ 5= QUSH ARIO|LTE W7 201AH S 0ist 2 As, soon, as, |, find, her
OF 5i. 3 did, not, until
since: ~&t 0|2 2(), ~0|22(0|R) 4 after, |, have[eat], dinner

3 a s Yol= SASUS E
b. L= OF B= 22 S7|X12h 21 sh= Zoll= 2 §f

=8

1 while: ~5t= SQt0j|
2 as soon as’t 0|11= ER2 WE LiEtLE SAR0IEZ
Oj2he] YOI2t= STHAIME 2L

c. LH= Of3ig Zoj| ZO7Hs S0t MatEsts #it _
- e e 3 > not ~ until ... 87| FIKI= ~QCh -5 LEAOF
while: ~8H= SOK(), ~Q! BHE0)(CHX) sict
~0

4 > WS UEE FAFENME D12He] LO2te ATHAIRZ
LIEIHE 2 after?} 01Ti= HO| AlXl= X7} =010k St
Ch.

C

1 because — because of 2O 3 will return —
return 4 Now until — Now that 5 O

1 W7h gele 2ol Rl 22 a3l ol theolct A

FHoll AL O|HXI2 2 because ofS MOF BtCt 4 A7 A

ZAA N

2 0| 211 U0IA I Aol AL, & SAUSAN (i, aslong as,
though so ~ that)

since= O|RE LUEHHE HEAIZ XL

— g=

3 L= T2|ol SO0t oREs YEe Aot

=2d= o=

WE LEHUE FAPROAE DI2HE SATHAINZ LIEHHE

2 will return STHAIKIQ! return0| SI0{0F SCt, CHECK UP
4 O LIz 1840| EAUCL| 2SS MOFZLt
SOiAL ~O|LIFRE= 0| SI0OF BHD2 now thatS 2 1 onlyif 2unless 3 As 4 what they say 5 In case
Et. 1 11AM DjEtel Zo2t 3 525 22 &+ U
5 1 FA2 FRI0| S0t2 WitK|= 2H=0{0F B, ~0 ZRU2F0|2HE SO 2 EAS LEHE only if?
by the time (that)2 ~& W7HX|=0j2t= S 2 SA;- otgiCt
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